Chapter 6 — Application of Derivatives Maths

FREE Education

Find the rate of change of the area of a circle with respect to its radius r when
(@)r=3cm (b)) r=4cm
Answer
The area of a circle (A) with radius (r) is given by,
A=m
Now, the rate of change of the area with respect to its radius is given by,
% = %{m‘z } =2mr
1. Whenr=3cm,
dA
e =
Hence, the area of the circle is changing at the rate of 6n cm?/s when its radius is 3 cm.
2. Whenr=4cm,
dA
e =

Hence, the area of the circle is changing at the rate of 8n cm?/s when its radius is 4 cm.

2n(3)=6n

2n(4)=8n

The volume of a cube is increasing at the rate of 8 cm?3/s. How fast is the surface area
increasing when the length of an edge is 12 cm?
Answer
Let x be the length of a side, V be the volume, and s be the surface area of the cube.
Then, V = x> and S = 6x® where x is a function of time t.

dav
It is given that d

=8¢cm’ /s

Then, by using the chain rule, we have:
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di e dy o dr
dx ]
= (1)
- df 3x
Now, a5 = a _r:) :i(ﬁx:)-ﬁ [B}f chain rule]
di di dx dt
' 3
=I2x,ﬁ=12x-[ B,]= 2
el 3x” x
ds 32 . 8 N
= em”/s=— cm”/s.
Thus, when x = 12 cm, @ 12 3

Hence, if the length of the edge of the cube is 12 cm, then the surface area is increasing
8

at the rate of 3 cm?/s.

The radius of a circle is increasing uniformly at the rate of 3 cm/s. Find the rate at which
the area of the circle is increasing when the radius is 10 cm.

Answer

The area of a circle (A) with radius (r) is given by,

A=m

Now, the rate of change of area (A) with respect to time (t) is given by,

Ezi[ﬂz}-d—rzim'd—r | By chain rule|
dr  di bodi di

It is given that,

i =3 cm's

al
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Thus, when r = 10 cm,

dd 3,

— =6m(10)=60r cm” /s

dt

Hence, the rate at which the area of the circle is increasing when the radius is 10 cm is

60n cm?/s.

An edge of a variable cube is increasing at the rate of 3 cm/s. How fast is the volume of
the cube increasing when the edge is 10 cm long?
Answer
Let x be the length of a side and V be the volume of the cube. Then,
V=x*
dV . 5 dx

=3 r—
- dt df (By chain rule)

It is given that,

ﬂrj =3 cm/s
df
dl 5 5
=3x"(3)=9x"
.o [ }

Thus, when x = 10 cm,
dlV 2
dlt

= 9(] 0)" =900 em’ /s
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cm long.

A stone is dropped into a quiet lake and waves move in circles at the speed of 5 cm/s. At
the instant when the radius of the circular wave is 8 cm, how fast is the enclosed area
increasing?

Answer

The area of a circle (4) with radius (r) is given by 4 = 7“":.
Therefore, the rate of change of area (A) with respect to time (t) is given by,
2y dr ar

2 B P

a4 Fel 2
= {m" } = —{:rtr -
- dr dt dt [By chain rule]

drdt

dr ,
— =35 cm/s
It is given that @7
Thus, when r = 8 cm,
dd
ot

Hence, when the radius of the circular wave is 8 cm, the enclosed area is increasing at

2n(8)(5)=80xn

the rate of 80n cm?/s.

The radius of a circle is increasing at the rate of 0.7 cm/s. What is the rate of increase of
its circumference?
Answer
The circumference of a circle (C) with radius (r) is given by
C = 2nr.
Therefore, the rate of change of circumference (C) with respect to time (t) is given by,
dc _dc dr
dt  dr di (By chain rule)
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dr Codt

=2n-—
ot

i =0.7 cm/s

It is given that dr

. , 152n(0.7 ) =141 cm/s.
Hence, the rate of increase of the circumference { }

The length x of a rectangle is decreasing at the rate of 5 cm/minute and the width y is
increasing at the rate of 4 cm/minute. When x = 8 cm and y = 6 cm, find the rates of
change of (a) the perimeter, and (b) the area of the rectangle.

Answer

Since the length (x) is decreasing at the rate of 5 cm/minute and the width (y) is

increasing at the rate of 4 cm/minute, we have:

el o dy o
= 5 cm/min ~ =4 cm/min
df and dr
(@) The perimeter (P) of a rectangle is given by,
P=2(x+y)
P (d )
s ax ”I_L - 2{_5+4]=—2 cIm/'min

Cdt \dr dt )
Hence, the perimeter is decreasing at the rate of 2 cm/min.
(b) The area (A) of a rectangle is given by,

A=x Xy
1A dx Ty
dA _dx . e

— y4x-—==5p+4dx
Sodt o dt di ’

Pr.‘r i " 2 "
& (—5 x6+4x8) em’/min =2 cm’ /min

When x = 8 cmand y = 6 cm, @

Hence, the area of the rectangle is increasing at the rate of 2 cm?/min.

" o NA a o
cd © DOV ©
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A balloon, which always remains spherical on inflation, is being inflated by pumping in
900 cubic centimetres of gas per second. Find the rate at which the radius of the balloon
increases when the radius is 15 cm.

Answer

The volume of a sphere (V) with radius (r) is given by,

4
V=—m

~Rate of change of volume (V) with respect to time (t) is given by,

diy_dv f

Pel] dr [By chain rule]
d{4 .\ dr

=—| —nr |-\—
dr!\ 3 J dt

ﬂ =900 cm” /s

It is given that @

dr

5900 = dar” -

it
dr 900 225
= —= —=—
dt 4w oW
Therefore, when radius = 15 cm,
ar 225 1

di z(15)

Hence, the rate at which the radius of the balloon increases when the radius is 15 cm

1 )
— CIMY/s.
isT
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A balloon, which always remains spherical has a variable radius. Find the rate at which
its volume is increasing with the radius when the later is 10 cm.
Answer
4
V=—m
The volume of a sphere (V) with radius (r) is given by

Rate of change of volume (V) with respect to its radius (r) is given by,

WV di4 .\ 4 ,
L P |:—:1:{3r'}:4m-'
dr dr'\3 ) 3

Therefore, when radius = 10 cm,
i 2
9~ 4n(10) = 400n

[

Hence, the volume of the balloon is increasing at the rate of 400n cm?/s.

A ladder 5 m long is leaning against a wall. The bottom of the ladder is pulled along the
ground, away from the wall, at the rate of 2 cm/s. How fast is its height on the wall
decreasing when the foot of the ladder is 4 m away from the wall?

Answer

Let y m be the height of the wall at which the ladder touches. Also, let the foot of the
ladder be x maway from the wall.

Then, by Pythagoras theorem, we have:

x* + y? = 25 [Length of the ladder = 5 m]

e
= p=+25-x"

Then, the rate of change of height (y) with respect to time () is given by,
dv  -x v

dr J25—x° dr

It is given that @7
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Now, when x = 4 m, we have:
dv  —2x4 8

dr J25-4° 3

8
— cm/s
Hence, the height of the ladder on the wall is decreasing at the rate of 3

A particle moves along the curve by =x’ +2. Find the points on the curve at which the y-
coordinate is changing 8 times as fast as the x-coordinate.

Answer

The equation of the curve is given as:

6y=x"+2

The rate of change of the position of the particle with respect to time (t) is given by,

6L 3%
it t
gﬂ = 3 ﬂ
dt dt
When the y-coordinate of the particle changes 8 times as fast as the
(" dy nf-:]
Caa
x-coordinate i.e., ct dt , we have:
2|'/ g dx ] _ g el
\odr df
- mn’.‘r _ ) dx
di dlt
5 dx
=|x =16)]—=10
(¥ -16)7,
=x =16
= x =4
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When ) 6 6
-4) +2
N _(4)+2_ 62 _ 31
When O 6 K
i a1
Hence, the points required on the curve are (4, 11) and * 3

1

The radius of an air bubble is increasing at the rate of 2 cm/s. At what rate is the
volume of the bubble increasing when the radius is 1 cm?
Answer
The air bubble is in the shape of a sphere.
Now, the volume of an air bubble (V) with radius (r) is given by,
4

* 3
V =—mr

The rate of change of volume (V) with respect to time (t) is given by,

dv = ir:'f—?r(r‘}-E [H}'chain rule]
dt 3 dr? ot

dr

|
—=— cm/s
It is given that @/ 2

Therefore, whenr =1 cm,

v y .
d =dx(1) l]=2n cm’ /s
ot L2

Hence, the rate at which the volume of the bubble increases is 2n cm?/s.
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rate of change of its volume with respect to x.

Answer

The volume of a sphere (V) with radius (r) is given by,
4

V=—m

It is given that:

=3 (2x41)

Diameter 2

3
=r="(2x+1

S (2x1)

4 (37 19 2
SV =—nl = | (2x+]1) =—m(|2x+]

3 |-.\4,“ ) =163+
Hence, the rate of change of volume with respect to x is as
ar = 9 T d (2x+l]|;= 9 th.'i[l‘r+l]'\x2=2? TE(2J(+|}?.
de 16 dx 16 8

Sand is pouring from a pipe at the rate of 12 cm?/s. The falling sand forms a cone on the
ground in such a way that the height of the cone is always one-sixth of the radius of the
base. How fast is the height of the sand cone increasing when the height is 4 cm?
Answer

The volume of a cone (V) with radius (r) and height (h) is given by,

V =lm'::‘?

It is given that,

h=lf' = =0k
[§]

V= ;H{ﬁh]? h=12nk’

2
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dv =12n d [Ir"]-dh
dr dh dt [By chain rule]

P 4 XII Chapter 6 - Application of Derivatives Maths
§ eVidyasits

2y
=123k | —
7 r]m
—36ﬂ3a3ﬂ
i

il .
ar_ 12em’™ /s
It is also given that f

Therefore, when h = 4 cm, we have:

12=36m(4) “;h
ar

idh 12 1
_—— e — e —
dr 36m(16) 48x

Hence, when the height of the sand cone is 4 cm, its height is increasing at the rate

The total cost C (x) in Rupees associated with the production of x units of an item is
given by
C(x)=0.007x"—0.003x" +15x+4000

Find the marginal cost when 17 units are produced.
Answer

Marginal cost is the rate of change of total cost with respect to output.

=€ 0.007(3:*)-0.003(2x) +15

~Marginal cost (MC) dx

=0.021x" - 0.006x +15
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FREE Edut8:041(289) — 0.006(17) + 15
=6.069 — 0.102 + 15

= 20.967

Hence, when 17 units are produced, the marginal cost is Rs. 20.967.

The total revenue in Rupees received from the sale of x units of a product is given by
R(x)=13x"+26x+15

Find the marginal revenue when x = 7.
Answer
Marginal revenue is the rate of change of total revenue with respect to the number of
units sold.
_dR
~Marginal Revenue (MR) Cdr = 13(2x) + 26 = 26x + 26

When x = 7,
MR = 26(7) + 26 = 182 + 26 = 208
Hence, the required marginal revenue is Rs 208.

The rate of change of the area of a circle with respect to its radius rat r = 6 cm is
(A) 10n (B) 12n (C) 8n (D) 11n

Answer

The area of a circle (A) with radius (r) is given by,

A=m

Therefore, the rate of change of the area with respect to its radius r is

dd 4

— —{m': } = 2mr
dr  dr / ]
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~“When r=6cm,

14 : o
A 2ax6=12mcm /s

ar

Hence, the required rate of change of the area of a circle is 12n cm?/s.

The correct answer is B.

The total revenue in Rupees received from the sale of x units of a product is given by

x)=3x" +36x+5 '
R( ¥)=3x"+36x . The marginal revenue, when ¥ =13is

(A) 116 (B) 96 (C) 90 (D) 126
Answer
Marginal revenue is the rate of change of total revenue with respect to the number of

units sold.
_dR
~Marginal Revenue (MR) dv = 3(2x) + 36 = 6x + 36

~When x = 15,

MR = 6(15) + 36 = 90 + 36 = 126
Hence, the required marginal revenue is Rs 126.

The correct answer is D.
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Show that the function given by f(x) = 3x + 17 is strictly increasing on R.
Answer

Let x, and x, be any two numbers in R.

Then, we have:
X, <x, =3x <3x, =35, +17<3x0, +17= f(x) < f(x,)

Hence, fis strictly increasing on R.

Alternate method:
fi(x) = 3 > 0, in every interval of R.

Thus, the function is strictly increasing on R.

Show that the function given by f(x) = e* is strictly increasing on R.

Answer

Let ¥ and x,

Then, we have:

be any two numbers in R.

X <x, =2 <2x, = e <™ = f(x) < f(x)

Hence, fis strictly increasing on R.

Show that the function given by f(x) = sin x is

[ m (m
| U.; It

(a) strictly increasing in ~ “/(b) strictly decreasing in 2 )

(c) neither increasing nor decreasing in (0, n)

Answer

The given function is f(x) = sin x.

S (x)=cosx
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(a) Since for each  * 2, we have” 777 7,
i r["‘
0.5
. . . o 2
Hence, fis strictly increasing in~ <,
X F|K§,n \"cos x =0 f(x)<0
(b) Since for each  “< / , we have’ 7/ 7T,
(g
-,

Hence, fis strictly decreasing in* 2 ) .
(c) From the results obtained in (a) and (b), it is clear that f is neither increasing nor

decreasing in (0, n).

Find the intervals in which the function f given by f(x) = 2x*> — 3x is
(a) strictly increasing (b) strictly decreasing
Answer

The given function is f(x) = 2x*> — 3x.

f’{x} =4x-3
‘)r
L x)=0 = x==
£(x) ;
3 i 30 i3
- —an, — — a0
Now, the point 4 divides the real line into two disjoint intervals i.e., " 4) and" 4

Y

t
3
&
f 3 ,
—0,— |, [(x)=4x-3<0
In interval * 4)
{ 30
—a0, —
Hence, the given function (f) is strictly decreasing in interval * 4) .

(3
‘—.-::o]._,r"{_r} =4x-3>0.

In interval
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Hence, the given function (f) is strictly increasing in interval * 4 .

Find the intervals in which the function f given by f(x) = 2x*> — 3x> — 36x + 7 is
(a) strictly increasing (b) strictly decreasing
Answer

The given function is f(x) = 2x®> — 3x* — 36x + 7.

F(x)=6x"—6x-36=6(x"—x—6)=6(x+2)(x-3)

'.'.f.‘{""}:[“}_b- x=—2 3

The points x = =2 and x = 3 divide the real line into three disjoint intervals i.e.,

(—0,-2),(-2.3), and (3,).

—rn
- + f L
i 3

o

(—o0,—2) and (3,0). f"(x)

In intervals is positive while in interval

ae
(-2, 3), J { }is negative.
Hence, the given function (f) is strictly increasing in intervals

{—-:3,—2} and {J'm} , while function (f) is strictly decreasing in interval

(-2, 3).

Find the intervals in which the following functions are strictly increasing or decreasing:
(a) x> + 2x — 5(b) 10 — 6x — 2x?

(c) —2x> —9x*> — 12x + 1 (d) 6 — 9x — x*

(e) (x + 1)’ (x - 3)°
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(a) We have,
flx)=x"+2x-5
f’{.t}: 2x+2
Now,
f'(x)=0_,

—i, — -1, ).
Point x = —1 divides the real line into two disjoint intervals i.e., { ’ ]} and { . j

o — r - M
In interval{ ,=1).f [T} 2x+2<0.

(—=0,—1).

~f is strictly decreasing in interval

Thus, fis strictly decreasing for x < —1.

In interval[_]s":}s.f{"f]: 2x+2>0.

. i . C —1,m0).
= fis strictly increasing in mtervalIlr J

Thus, fis strictly increasing for x > —1.
(b) We have,

f(x) = 10 — 6x — 2x°

S (x)=-6-4x

MNow,

f’{.r] =0=x= —%
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The point 2 divides the real line into two disjoint intervals

( 37 3 )

L—‘JO‘——J and | ——, @ |,
i.e., 2 2" )

|"_.:'CI 3 3
LI X il —— e —
In intervalL 2) i.e., when 2 ,f {\] =—H-4x <),
X< —-=

- fis strictly increasing for

i

b |t

”‘-— f{ ) =—6-4x <0,

A
%)
In interval i.e., when

-
)

Xz ==
-~ fis strictly decreasing for

(c) We have,

fix) = -2x> - 9x* — 12x + 1

nf(x)=—6x" —18x—12=—6(x" +3x+2)=—6(x+1)(x+2)

MNow,

f'(x)=0 =>x=-landx=-2

Points x = —1 and x = —2 divide the real line into three disjoint intervals

i_e.’[—:r:,—E},[—E,—]}, and (—1,=).

(—o0,—2) and (-1,)

In intervals

f(x)==6(x+1)(x+2)< 0

i.e., when x < =2 and x > —1,
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=~ fis strictly decreasing for x < —2 and x > —1.
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Now, in interval (-2, —1) i.e., when -2 < x < -1,

=~ fis strictly increasing for —2<x<-l,

(d) We have,
S{x)=6-9x—x’

S f(x)=-9-2x
Now, [’

- , 9
(x)=0 givesx=—2

9
X=—=—
The point 2 divides the real line into two disjoint intervals i.e.,
[V [V
(—*JO‘—— and [——,uo
2) 2" )
f—ao 9 9
LI Xl = e — 0 )
In intervalL 2) i.e., for 2, / {1} 9-2x> U_
X< —=
= fis strictly increasing for 2
(] \ 9
__"I:OJ X»=— '
x)=-9-2 .
In intervalL 2 i.e., for 2 [ () 2x <0
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= fis strictly decreasing for 2,

(e) We have,

fix) = (x+ 1) (x - 3)°

f‘{x}:ﬂ[xﬂ}:{x—.?-}}+3{x—3}3{x+l}3
=3(x+1) (x-3) [x—3+x+|]
=3(x+1) (x-3)°(2
—6(x+1) (x=3)" (x— ]

MNow,
_f"{x):ﬂ = x=-1,31
The points x = —1, x = 1, and x = 3 divide the real line into four disjoint intervals

e, 7)1y, @3y, and ),

In intervals{_x’_l}and (-1, 1), f'(x)=6(x+1) {I—3']'"(x—|}<ﬂ_

« fis strictly decreasing in intervals[_x’_]}and (-1, 1).

{3.00}’ _f"{.r]=6[1‘+]} (x— 3) (x—1)= fl.

In intervals (1, 3) and

(3.)

~ fis strictly increasing in intervals (1, 3) and
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- 2x
y=log(1+x) ,x=—1
Show that 2+x , is an increasing function of x throughout its

domain.
Answer

We have,

2x
v=log(l+x)-——
y=log(l+x)->—

cdy 1 (2+x)(2)-2x(1) 1 4 e

Tdx lex (2+x]z 1+x {2+x}? {2+.1r):

Now, ﬁ =0
dv

{2 + x}:

=x'=0 (2+x)#0asx>—1]

=0

.

=x=0
Since x > —1, point x = 0 divides the domain (-1, o) in two disjoint intervals i.e., =1 <
x < 0and x > 0.

When —1 < x < 0, we have:
x<0=x'>0

¥>-1=(2+x)>0=(2+x) >0

2

. X

Y 2

=>0

Also, when x > 0:

¥>0=x" >0, (2+x) >0

y=— =0

o

(2+x)

Hence, function f is increasing throughout this domain.
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Find the values of x for which” is an increasing function.
Answer

We have,

V= [x{.t—z}]: = [x: —Zx:?
" ﬁ:d}-" = 2{.‘{': —21‘}(2:(—2] =4x(x-2)(x-1)

. =0 = x=0x=2,x=1.
ax

The points x = 0, x = 1, and x = 2 divide the real line into four disjoint intervals i.e.,

(—0,0), (0,1) (1,2), and (2,).
—0,0) and (1,2) %{nl

In intervals{

—o0,0) and []’2).

=~ y is strictly decreasing in intervals {

ﬁ::-I[].

However, in intervals (0, 1) and (2, «), dx

=~ y is strictly increasing in intervals (0, 1) and (2, o).

“+y is strictly increasing for 0 < x < 1 and x > 2.

4sin T
y=—- .=
Prove that {2 +mﬁ€] is an increasing function of 6 in{ 2]
Answer
We have,
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(2+cosd)
Cdy  (2+cos@)(4cosf)-4sin(-sind)
- d (2+cos0)’

B Huusﬁ+4cnxzﬂ+4sing€_1

(2+cosd)’
_ 8Bcosd+4 O
[2-&-(:{351‘?)?

MNow, dy =1,

{
Beosd+4
=y

[2+C053}2
= 8cosf+4 =4+cos” @+4dcosd
= cos’ @—dcosf =0
= cosf(cosd—4)=0
=cosf) =0 or cosf =4
Since cos B8 # 4, cos 6 = 0.

msﬁ:ﬂ:}ﬁ:g

Now,
dy 8cosd+ 4—(4+cos’ 9+4c059) _ 4cosf-cos’@  cosO(4—cosd)
dx (2+cosd)’ (2 +cosd) (2+cos@)
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4, we have cos 6 > 0. Also, 4 > cos 8 >4 — cos 6 > 0.

) 4 XII Chapter 6 - Application of Derivatives Maths
> eVidyarthi

In interval

.cos8(4-cosf) =0 and also (2 +cos H‘]: =0

cos@(4-cosd)
— 5

(2+cos )

>

/ \
0,
Therefore, y is strictly increasing in interval *

b | =

o
x=0andx=—.
Also, the given function is continuous at 2

[ x
u._}
Hence, y is increasing in interval- 2 .

Prove that the logarithmic function is strictly increasing on (0, o).
Answer
The given function is f( x ) = log x.
y I
X
" 1
flx)===0.
It is clear that for x > 0, X

Hence, f(x) = log x is strictly increasing in interval (0, o).

Prove that the function f given by f(x) = x> — x + 1 is neither strictly increasing nor
strictly decreasing on (-1, 1).

Answer
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FREE Edulbgigiyen function is f(x) = x* — x + 1.
s () =2x-1

Now, f'(x)=0= _1'=%.

1

The point 2 divides the interval (=1, 1) into two disjoint intervals

i ] ] !
L—I, —] and {—. .
i.e., 2 2

A

1y .,
| =L, = [.f"(x)=2x-1<0.
Now, in interval" 4
i 10
14
Therefore, fis strictly decreasing in interval * 2, .

I.r ] kY ,
— 1.f(x)=2x-1>0.
However, in interval * 2 )
i1
TR & y
Therefore, fis strictly increasing in interval = /.

Hence, fis neither strictly increasing nor decreasing in interval (-1, 1).

o
=
ra | A

Which of the following functions are strictly decreasing on
(A) cos x (B) cos 2x (C) cos 3x (D) tan x

Answer

(ny et (1) = o5

S (x)=—sinx

S(x)=—sinx<0.
In interval *

S (x)=cosx
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FREE Eduggtigr /2 (x)=cos2x.
i (x)=-2sin2x

MNow, (quqgﬁﬂ{h'{n:bsin 2x>0= -2s5n2x <=0

S f(x)=-2sin2x <0 mr[U,%J

0 _]
is strictly decreasing in interval( 2 .

f;(x)=cos3ux.

" fi(x)=cos2x

(C) Let-
~ fi(x)=—3sin3x
Now, f;(x)=0.

. . [
= sin3xy=0=3x=muas .rE| G’E]
W

= x=

| =

EU,E
2

T
r=—=
The point 3 divides the intervalL

{
LU, g] and (g :]
i.e., 0

I,f A"
Now, in interval | i].i;.r l.f; (x)=-3sin3x<0 [m; D<x< % = 0<3x< n}.
\

Jinto two disjoint intervals

Py

[>3)
=~ f3 is strictly decreasing in interval 3 .

o T om . T n 3
Howewer. in interval [—~ —]. fi(x)=-3sin3x>0 |:c.'.ﬁ' “ex<—=>m<3x< —}
30 2)" 37772 2
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Ta
- f5 is strictly increasing in interval * 3 2) )

Hence, f; is neither increasing nor decreasing in interval *

(D) Let Ji(x)=tanx.

o fi(x) =sec x

S AT X
0, — |.__f4'{.r}:sec' x =0
Ininterval™ =/

= fy is strictly increasing in interval *

.-‘U o
Therefore, functions cos x and cos 2x are strictly decreasing in* 2,

Hence, the correct answers are A and B.

Sflx)=x"+sinx-1

On which of the following intervals is the function f given by strictly

decreasing?

(
—., T

@ @ 27

I." kY
0,
Ok

Answer

3| =

4 (D) None of these
We have,
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oS (x)=100x" +cos x

In interVa|[U! 1}! cosx =) and 'I{JUILNJ -~ ().

S (x)=0.

Thus, function f is strictly increasing in interval (0, 1).

(E.n:].cos x <0 and 100 x™ =0. Also, 100 x™ >cos x
In interval
™

S f(x)=0in [gn J

—, T

i ]
Thus, function fis strictly increasing in intervalL 2 .

: [ om) -
In interval [ 0, 3 |,cosx >0 and 100x™ = 0.

5 100x™ +cosx =0

= f"(x)=00n [D.

3| o
. -

f

b | =
e

0,
- fis strictly increasing in intervalL

Hence, function fis strictly decreasing in none of the intervals.

The correct answer is D.

x)=x"+a
f{r} ' m“isstrictly

Find the least value of a such that the function f given
increasing on (1, 2).
Answer

We have,
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(
nf(x)=2x+a

f'(x)>0

Now, function f will be increasing in (1, 2), if* in (1, 2).

f(x)=0

=>2x+a>0

= 2X > —-a
=

X —
= 2

Therefore, we have to find the least value of a such that

X _:?.,whenre (1.2).

—{l
::~.r:=T (when | < x < 2)

Thus, the least value of a for f to be increasing on (1, 2) is given by,

“9

~

a
—=l=g==2
2

Hence, the required value of a is —2.
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any interval disjoint from (=1, 1). Prove that the function f given by
FREE Educit

_,f'[x] =x+ 1

X is strictly increasing on I.

Answer

We have,
_,f'{x} =x+ l

X

- 1
~f(x)=1 =

MNow

k]

,f"{x}—ﬂ:ﬁ%—l:ﬂ.r—il
X

The points x = 1 and x = —1 divide the real line in three disjoint intervals i.e.,

(=0,=1),(=1, 1), and (1, =)

In interval (=1, 1), it is observed that:

~l=x=1

= x <l

_>l:::iﬂ x=0
X

=1-—<0,x=0

X

s (x)=1 —L, <0on (-1, 1)~ {0},
X° i
- ~ |
~ fis strictly decreasing on (-1 I} lﬂ} .

In intervals{_m’_l} and {I’ m’], it is observed that:

A PR SR NA ari Ne aloadas
cd © DOV ©
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FREE Edlxqﬁ—l orl<x
= x >1
== 1> lw
X
1
===
X

'.f’(r}:l x]: >0 on (-, I] and (1. =).

(—e0, 1)and(]1, 'r}

=~ fis strictly increasing on

Hence, function fis strictly increasing in interval I disjoint from (-1, 1).

Hence, the given result is proved.

p

‘and

i

k| 2

0,
Prove that the function f given by f(x) = log sin x is strictly increasing on L

i 1
L—.n
strictly decreasing on 2 )
Answer
We have,
f(x)=logsinx
o (x)=——cosx=cotx
sinx
{ ) ,
LU, — |.f (x)=cotx=0.
In interval 2)
HU, E
2

~ fis strictly increasing in "
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FREE Education [L ﬂ;]. S'(x)=cotx<0.
In interval

[

Ml:l

.-’
~f is strictly decreasing |nL

I." H

b2 | S

0,
Prove that the function f given by f(x) = log cos x is strictly decreasing on L and

")

mln

{
strictly increasing on L
Answer

We have,

f(x)=logcosx

1 .
L fx)=——(-sinx)=—tanx
( ) cos.\:{ }
[z
0, = | tanx >0= —tanx <0,
Ininterval* <

)

C ) < )
S f(x)<0on [ﬂ. 5

4
If Y

b | =

0,
~f is strictly decreasing onL

(n
—, n:], tanx <0 = —tanx = 0.

In interval
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~fis strictly increasing on * ‘.

=) 3 _3- 2 ¥ —
Prove that the function given by f{.r] g v+ 3x =100 is increasing in R.
Answer

We have,

f(x)=x"=3x" +3x-100

S(x)=3x"—6x+3
=3(x"—2x+1)
=3(x-1)

For any xeR, (x — 1) > 0.

Thus, J {r) is always positive in R.

Hence, the given function (f) is increasing in R.

. . . 1= :J_".. . . -
The interval in which ¥ =% ¢ s increasing is

(~,0) (2.)

(A)

Answer

(B) (=2, 0) (C) (D) (0, 2)

We have,

y=xe"
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FREE Edl d_‘ =2y " = _‘L':E_'T =xe " {2 —.T}
dx
f\‘dtw'.',ﬂ =10,
dly

= x=0andx=2
The points x = 0 and x = 2 divide the real line into three disjoint intervals

i.e.,{_w’ 0), (0, 2), and (2, ).

. 2, 4 S
In intervals{ % 'U}and{_. J:}’f {I}{ 0ase is always positive.

~fis decreasing on{_m’ U]and {:’ «).

In interval (O, 2),'Jf {T} >0

=~ fis strictly increasing on (0, 2).

Hence, fis strictly increasing in interval (0, 2).

The correct answer is D.
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Find the slope of the tangent to the curve y = 3x* — 4x at x = 4.

Answer
The given curve is y = 3x* — 4x.
Then, the slope of the tangent to the given curve at x = 4 is given by,

EL =120"-4]  =12(4) -4=12(64)-4=764

J_x—]

Find the slope of the tangent to the curve x—2 , X # 2atx = 10.

Answer

x=1

y=
The given curve is x—=2,

Ly (x=2)(1)=(x=1)(1)
dx (x=2)

=JC—.?.—I:I—1= -1 :

(-2 (-2

Thus, the slope of the tangent at x = 10 is given by,

@l - e
dx L__,(,_{x_g]ﬁ M _{m_zf 64

=1

Hence, the slope of the tangent at x = 10 is 64

Find the slope of the tangent to curve y = x> — x + 1 at the point whose x-coordinate is

2.

Answer
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dy o
S =3x 1
dx

@l
x [E Y .

[
The slope of the tangent to a curve at (xg, ¥o) is
It is given that xo = 2.
Hence, the slope of the tangent at the point where the x-coordinate is 2 is given by,

dyv 1 2
DI 23 -1]  =3(2) -1=12-1=11
d.r—‘l.ﬁ -I‘” (2)

Find the slope of the tangent to the curve y = x> — 3x + 2 at the point whose x-
coordinate is 3.

Answer

. - T
The given curve sy =¥ 3x+ =.

Cdy

o =3x7 =3
o

@l
1{1 [ETY .

o
The slope of the tangent to a curve at (xg, Vo) is
Hence, the slope of the tangent at the point where the x-coordinate is 3 is given by,

ﬂ} =3x’-3] =3(3)'-3=27-3=24

dx

T
#=—
Find the slope of the normal to the curve x = acos>6, y = asin®0 at 4

Answer

It is given that x = acos@ and y = asin’6.
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FREE Edu . ﬁ =3acos’ @(-sin@)=-3acos’ Osind

D _ 3gsin’ A (cosd)
di

Iy “{},
dy L dﬂ) 3asin® Beosd sin @
L——= = —— = — =—tan
d [a{rJ —3acos’ #sind  cosd
de
="
Therefore, the slope of the tangent at 4is given by,

Ay n
i} =—tand] - =—tan— =1
dx |, = = 4

.,
# =— 1s given by,
Hence, the slope of the normal at
1 -1

slope of the tangent at & = E

Question 6:

Find the slope of the normal to the curve x = 1 — asin 0, y = b cos?6 at 2,
Answer
It is given that x = 1 — a sin 8 and y = b cos?6.

o —acos0 and . 2bhcosB(—sin®)=-2bsinDcos O
d6 db

[" f{'l-' A
dv | .:J’E'J —2hsinBeosB  2h
: = = =—sxinH

‘E_[u"x}_ —acos0 a

do

Therefore, the slope of the tangent at is given by,
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a 2

. .
# =— 1s given by,
Hence, the slope of the normal at

1 | ¢

ooy

. n
slope of the tangent at & =

Find points at which the tangent to the curve y = x> — 3x> — 9x + 7 is parallel to the x-
axis.

Answer

P e RV + b
The equation of the given curve is¥ =% 3x7=9x+7.

‘ﬂ—h —6x-9
dlx

Now, the tangent is parallel to the x-axis if the slope of the tangent is zero.
S3xt—6x—9=0=x"-2x-3=0

=(x=3)(x+1)=0

—x=3orx=-1
Whenx =3,y=(3)°-33)?-9B3)+7=27-27-27+7=-20.
Whenx=-1,y=(-13}-3(-1)*-9(-1)+7=-1-3+4+9+7=12.
Hence, the points at which the tangent is parallel to the x-axis are (3, —20) and
(-1, 12).

Find a point on the curve y = (x — 2)? at which the tangent is parallel to the chord
joining the points (2, 0) and (4, 4).

Answer

If a tangent is parallel to the chord joining the points (2, 0) and (4, 4), then the slope of
the tangent = the slope of the chord.
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The slope of the chord is 4-2 2

Now, the slope of the tangent to the given curve at a point (x, y) is given by,
s

D _2(x-2)

dx

Since the slope of the tangent = slope of the chord, we have:

2{_.1:—2] =2

=>x-2=1=x=3
Whenx=3, y=(3-2)' =1.

Hence, the required pointis (3, 1).

Find the point on the curve y = x> — 11x + 5 at which the tangentis y = x — 11.
Answer

The equation of the given curveis y = x> — 11x + 5.

The equation of the tangent to the given curve is given as y = x — 11 (which is of the

formy = mx + c¢).

~Slope of the tangent = 1

Now, the slope of the tangent to the given curve at the point (x, y) is given by,

%:‘irz 11
Then, we have:
3x" —=11=1
=3x =12
=x =4

= x=1%2

Whenx =2,y=(2)°-11(2)+5=8-22+5= -9,
Whenx = -2,y =(-2)®-11(-2)+5=-8+22+5 = 19.

cd © DOV ©
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}' CIgEyEL
FREE Eddé%rffﬁnthe required points are (2, —9) and (-2, 19).

Find the equation of all lines having slope —1 that are tangents to the curve

V= ,x =l
x—1
Answer
1
y= Lx=l
The equation of the given curve is x -1

The slope of the tangents to the given curve at any point (x, y) is given by,
dv 1

e (x-1y

If the slope of the tangent is —1, then we have:

(x-1)"
—(x—-1) =1
= xy—1==I]
= x=2,0

Whenx =0,y =-1andwhenx =2,y = 1.
Thus, there are two tangents to the given curve having slope —1. These are passing

through the points (0, —1) and (2, 1).

~The equation of the tangent through (0, —1) is given by,

y=(-1)=-1(x-0)
= y+l=—x

= y+x+1=0
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~The equation of the tangent through (2, 1) is given by,

y—-1=-1(x-2)

>y—-—1=-x+2

=>y+x-3=0

Hence, the equations of the required linesarey + x+ 1 =0andy + x — 3 = 0.

Find the equation of all lines having slope 2 which are tangents to the

V= R
curve x=3

Answer

The equation of the given curve is  ¥—3

The slope of the tangent to the given curve at any point (x, y) is given by,
dy 1
de (x-3)

5

If the slope of the tangent is 2, then we have:
-1

;=2

(x-3)
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= (x-3)' =
(x-3) =3
This is not possible since the L.H.S. is positive while the R.H.5. is negative.

Hence, there is no tangent to the given curve having slope 2.

Find the equations of all lines having slope 0 which are tangent to the curve

1
}.lz?—
x-2x+3

Answer

1
V="
The equation of the given curve is ¥ —2x¥+3
The slope of the tangent to the given curve at any point (x, y) is given by,

dv  —(2x-2)  -2(x-1)
dx {x3—2x+3]: {x3—2.1+3}:

If the slope of the tangent is 0, then we have:

-2(x-1) o
(.r: —21—3}_
= -2(x-1)=0
= =1
1 1
When x = 1, 1J=|—2+3=§-

[

1,
~The equation of the tangent throughL 2) is given by,
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Find points on the curve 9 16 at which the tangents are
(i) parallel to x-axis (ii) parallel to y-axis

Answer

2 2
Xy
b =1

The equation of the given curve is 9 16
On differentiating both sides with respect to x, we have:
2x 2v dy
_+ —_—
9 16 dr
dv —l6x
= —=
dx 9y

=0

—16x ~0

(i) The tangent is parallel to the x-axis if the slope of the tangent is i.e., 0 9y

which is possible if x = 0.

Then, 9 16 forx =0
=y =16= y=1=4

Hence, the points at which the tangents are parallel to the x-axis are
(0, 4) and (0, — 4).
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FREE Edl.l@:?lfmﬁ tangent is parallel to the y-axis if the slope of the normal is 0, which
=1 Yy

—=—=0

—16x lox

9y J

gives[ =>y=0.

Then, 9 16 fory = 0.

= x=43

Hence, the points at which the tangents are parallel to the y-axis are
(3,0) and (- 3, 0).

Find the equations of the tangent and normal to the given curves at the indicated points:
()y =x*-6x>+ 13x* — 10x + 5 at (0, 5)
(i) y = x* —6x> + 13x> — 10x + 5 at (1, 3)
(iiy =x>at (1, 1)
(iv) y = x* at (0, 0)
p_ 1
(v) x=cost, y =sintat 4
Answer
(i) The equation of the curve is y = x* — 6x> + 13x> — 10x + 5.

On differentiating with respect to x, we get:

Y 4 185 +26x-10
X

5] o

{A'I.'f (i, &)

Thus, the slope of the tangent at (0, 5) is —10. The equation of the tangent is given as:
y—5=-10(x - 0)
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>y—-5=—10x

=>10x+y=5

=1 ]

Slope of the tangent at (0, 5) 10°

The slope of the normal at (0, 5) is
Therefore, the equation of the normal at (0, 5) is given as:

1
—5=—(x—0
¥ m{r )

—10y-50=x
— x—10y+50=0
(ii) The equation of the curve is y = x* — 6x> + 13x*> — 10x + 5.

On differentiating with respect to x, we get:

B 4x 185 426210
dx

“}'} —4-18+26-10=2
dx (. 3)

Thus, the slope of the tangent at (1, 3) is 2. The equation of the tangent is given as:

y—3=2(x-1)
= y-3=2x-2
= yp=2x+1

-1 -1

Slope of the tangent at (1,3) 2

The slope of the normal at (1, 3) is
Therefore, the equation of the normal at (1, 3) is given as:
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] S

= 2y—6=—-x+1

=x+2y-7=0

(iii) The equation of the curve is y = x°.

On differentiating with respect to x, we get:

dv _

3y

dx

dv 2

: =3{1) =3

dx i|-;|. 1 { }
Thus, the slope of the tangent at (1, 1) is 3 and the equation of the tangent is given as:
y-1=3(x-1)
= y=3x-2

=1 =]

The slope of the normal at (1, 1) is Slope of thetangentat (1, 1) 3

Therefore, the equation of the normal at (1, 1) is given as:
y—1 _—I{ x—1)
" 3 =

= 3y-3=—x+I

= x+3y=-4=0

(iv) The equation of the curve is y = x°.

On differentiating with respect to x, we get:
dv _
dx
e

e —0
dx (0, 0

2x

Thus, the slope of the tangent at (0, 0) is 0 and the equation of the tangent is given as:
y—0=0(x-0)

>y=0
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Slope of the tangent at (0, 0) 0

The slope of the normal at (0, 0) is
defined.

Therefore, the equation of the normal at (xo, yo) = (0, 0) is given by

, which is not

x=x,=0
(v) The equation of the curve is x = cos t, y = sin t.

x=cost and y =sinf

dx . dy
So=—==5IN{f, ——=CO05f
i i
"(afr]
___ﬁ_'\u’f _cost
ey [ﬂ'x\'| sint
dt |
dy

NG J2 )
1

=i+ y————r=10
T2 2
::~:':+J»'—v'f_=ﬂ

] =1.

i=

T
—  Slope of the tangent at 1 = T
The slope of the normal at 4is 4
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f—z l.e..at E. F
Therefore, the equation of the normal to the given curve at \ R ]
1 1
P=—== ].| X —,—]_
J2 Lo V2
= X=y

Find the equation of the tangent line to the curve y = x> — 2x + 7 which is
(a) parallel to the line2x -y +9=0
(b) perpendicular to the line 5y — 15x = 13.

Answer

.
The equation of the given curve is+ = * 2x+7

On differentiating with respect to x, we get:
dy
E:
(a) The equation of the lineis 2x — y + 9 = 0.
2x—y+9=00y=2x+9

2x=-2

This is of the form y = mx + c.

OSlope of the line = 2

If a tangent is parallel to the line 2x — y + 9 = 0, then the slope of the tangent is equal
to the slope of the line.

Therefore, we have:

2=2x-2
= 2x=4
=x=2
Now, x = 2

“y=4-4+7=7
Thus, the equation of the tangent passing through (2, 7) is given by,
y=T=2(x-2)

= y—2x-3=0
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CLL AN

FREE Eddé?fff@nthe equation of the tangent line to the given curve (which is parallel to line 2x —

y+9=0)isV " 2¥=3=0

(b) The equation of the line is 5y — 15x = 13.

v =3.1r+]—'

5y — 15x = 13 0 5
This is of the form y = mx + c.
[OSlope of the line = 3
If a tangent is perpendicular to the line 5y — 15x = 13, then the slope of the tangent is

-1 -1

slope of the line BER

= 2x 2=_T]
3

= 2x=—+42

= 2x=

ed | Ln -

5
= x==
O

Mow,x=—
6

T 36 6 36 36

25 10 25-604+252 217
V= T = —

217

5 ]
Thus, the equation of the tangent passing throughL 6 36 is given by,

36y-217 -1
=222 (6x-5)
36 18
= 36y-217=-2(6x-5)
—361-217=-12x+10
—36y+12x—227=0
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FREE Edd&ﬂf@nthe equation of the tangent line to the given curve (which is perpendicular to line

S5y — 15x = 13) is36ﬂ1-‘+|lt—22? _U.

Show that the tangents to the curve y = 7x> + 11 at the points where x = 2 and x = -2
are parallel.
Answer
The equation of the given curve is y = 7x° + 11.
dy

L= =21x"
el

ol
x (%= ) .

[
The slope of the tangent to a curve at (xg, ¥o) is
Therefore, the slope of the tangent at the point where x = 2 is given by,
dy
dx

It is observed that the slopes of the tangents at the points where x = 2 and x = -2 are

} =21(2) =84

equal.

Hence, the two tangents are parallel.

Find the points on the curve y = x® at which the slope of the tangent is equal to the y-
coordinate of the point.

Answer

The equation of the given curve is y = x°.

Ly _
v

The slope of the tangent at the point (X, y) is given by,

3y

@ =3x°

d‘lr [x.x)

When the slope of the tangent is equal to the y-coordinate of the point, then y = 3x°.

Also, we have y = x°.
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Ox*(x-3)=0

Ox=0,x=3
When x = 0, then y = 0 and when x = 3, then y = 3(3)? = 27.
Hence, the required points are (0, 0) and (3, 27).

oo < XII Chapter 6 - Application of Derivatives Maths
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For the curve y = 4x> — 2x°, find all the points at which the tangents passes through the
origin.

Answer

The equation of the given curve is y = 4x° — 2x°.

;ir =12x" -10x"

Therefore, the slope of the tangent at a point (x, y) is 12x*> — 10x*.

The equation of the tangent at (x, y) is given by,
V—y=(12x"-10x" )(X - x) (1)

When the tangent passes through the origin (0, 0), then X = Y = 0.
Therefore, equation (1) reduces to:

=y :{]2.1:: ~10x"* ]{—_1:}

y=12x"-10x°

Also, we have’ = 4x' -2,

1207 —10x° = 45" = 2x°

= 8x" —8x' =0

=y —x =0

= .r"{_‘r:' —]}:G

= x=0, =1

When x = 0, y =4(D}- —2(0) =0.

Whenx =1,y =4 (1)>-2 (1)’ = 2.
When x = =1,y =4 (-1)® —= 2 (-1)°> = -2.
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FREE Edd&ﬂf@nthe required points are (0, 0), (1, 2), and (-1, —2).
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Find the points on the curve x*> + y* — 2x — 3 = 0 at which the tangents are parallel to
the x-axis.

Answer

The equation of the given curve is x> + y?> — 2x — 3 = 0.

On differentiating with respect to x, we have:

2x+ le'ﬁ— 2=10
dx
dy
= y—=Il-x
dx
ﬂ l-x
dr v

Now, the tangents are parallel to the x-axis if the slope of the tangent is 0.

E 0= l-x=0=x=1
y
But, x> + y* — 2x — 3 =0 for x = 1.

=yt =4pgl=12

Hence, the points at which the tangents are parallel to the x-axis are (1, 2) and (1, —2).

Find the equation of the normal at the point (am?, am?®) for the curve ay? = x°.
Answer
The equation of the given curve is ay? = x°.

On differentiating with respect to x, we have:

clx
de 2a
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dx
The slope of a tangent to the curve at (xq, ¥o) is

= The slope of the tangent to the given curve at (am?, am?) is

ﬁ:| _ S(umz }2 3 3a*m’ _3m
a (e ane) - Ea{amj C2a'mt 2

O Slope of normal at (am?, am?®)

1 2

slope of the tangent at (c.rm'ﬁ. am":] 3m

Hence, the equation of the normal at (am?, am?) is given by,
-2 71

—(x mu'}

y — am3 = Im

= 3my —3am® = -2x+2am’

= 2x+3my am:{z i 3.'11':]: 0

Find the equation of the normals to the curve y = x> + 2x + 6 which are parallel to the
linex + 14y + 4 = 0.

Answer

The equation of the given curve is y = x> + 2x + 6.

The slope of the tangent to the given curve at any point (x, y) is given by,

% =3x" +2
O Slope of the normal to the given curve at any point (x, y)
-1
B Slope of the tangent at the point (x, v)
-1
T3 42

The equation of the given lineis x + 14y + 4 = 0.
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x+ 14y +4 =00 14 14 (which is of the form y = mx + c)

-1
OSlope of the given line = 14
If the normal is parallel to the line, then we must have the slope of the normal being
equal to the slope of the line.
-1 -1

“rt2 14
=3 +2=14
= 3x" =12

= x'=4

= x=12

Whenx =2,y=8+4+ 6 = 18.
Whenx=-2,y=-8-4+6 = —6.

-1
Therefore, there are two normals to the given curve with slope 14 and passing through
the points (2, 18) and (-2, —6).
Thus, the equation of the normal through (2, 18) is given by,

y—18=—(x-2
y-18=—(x-2)
= 14y-252=-x+12
= x+14y-254=10

And, the equation of the normal through (-2, —6) is given by,

y-(-6)=—[x-(-2)]

= y+6 :I—{x—rﬂ}
=14y +84=—x-2
= x+1dp+86=0

Hence, the equations of the normals to the given curve (which are parallel to the given

line) are * +14y—254=0and x+14y+86=0.
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Find the equations of the tangent and normal to the parabola y? = 4ax at the point (at?,
2at).

Answer

) 4 XII Chapter 6 - Application of Derivatives Maths
% eVidyarthi

The equation of the given parabola is y? = 4ax.

On differentiating y? = 4ax with respect to x, we have:

2_1-'£—4a
v
dv  2a
oy
@] _2a_1
(ar’, 2ar) . dv ). 2at 1

OThe slope of the tangent at is

. [ufj, Zcrr}I_ )
Then, the equation of the tangent at is given by,
1 .
—(.r -:z.f"}
y — 2at =1
= tv—2at* = x—at’

=y = x+at

[uf' h ﬁ:I}I_ .
Now, the slope of the normal at is given by,
-1
Slope of the tangent at { at’, Emf]

=~

Thus, the equation of the normal at (at?, 2at) is given as:
v=2at = .r(.r a.f:]
= y—2at =—tx+at’

= y=—tx+2at +at’

Prove that the curves x = y? and xy = k cut at right angles if 8k*> = 1. [Hint: Two curves

intersect at right angle if the tangents to the curves at the point of intersection are

perpendicular to each other.]
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The equations of the given curves are given as¥ =V and xy = k.
Putting x = y? in xy = k, we get:
|
p=k=v=k*
r=k"
{z |
ke, ff-‘]

Thus, the point of intersection of the given curves is "

Differentiating x = y? with respect to x, we have:

dv dy 1
1=2y—=—=—
dv v 2y
I.-' ¥ 1 ﬁ _ ]
SN S R
Therefore, the slope of the tangent to the curve x = y?at" s '
On differentiating xy = k with respect to x, we have:
dy dy =y
ey _1?:{}::’;}:—}
dx dy x
2 !
k*, k-‘]
[0 Slope of the tangent to the curve xy = kat" “is given by,
|
“’_‘} _ —_J:} __ kB _-l
dbx |a.r; X |}é k kl

We know that two curves intersect at right angles if the tangents to the curves at the
o
k*, k7
point of intersection i.e., at" 4 are perpendicular to each other.
This implies that we should have the product of the tangents as — 1.
Thus, the given two curves cut at right angles if the product of the slopes of their

fzo
k".k-‘]

respective tangents at \ Sis —1.
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=2k =1

::-fzk;] =(1y
\
= 8k* =1

Hence, the given two curves cut at right angels if 8k* = 1.

Find the equations of the tangent and normal to the hyperbola a’ h at the
{'xm .VU } )

Answer

point

a 1

oy 1

Differentiating a b with respect to x, we have:
2x 2ydy
a’ b dx
2ydy  2x
S Iy
b ody a
dy b'x

==
de ay

Y

dv bx,

Xps .Vu } is dx [

Therefore, the slope of the tangent at{ alo

X Vo)

Then, the equation of the tangent at{ is given by,
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by,
FREE Edly—yn —— 0 {:r—xn}
a ¥y
=a'yy, —ay;=hxx, ~bx;

= bixx, —a’yy, —b'xl +a’yl =0

xx, w, [x _ R L ST T
= — _b_z_(?—?}_ 0 [On dividing both sides by ah ]
. 2 2
SN T Y (.. ) lies on the hyperbola A A
a b a b
XX, Wy I
i b

{'xm Ya }

-1 _ _”!}'—u

Now, the slope of the normal at is given by,

Slope of the tangent at (x,, v,)  /’x,

. Xpw Vo).

Hence, the equation of the normal at{ o - “}IS given by,
—a:v, -

Y—W= JE - I{'T_II:‘}

o

— I'L' T I'l-'” _ - { .T.I_ _T“ )
a v bx,

BT G

ay, b'x,

—

Find the equation of the tangent to the curve '~ V3¥=2 hich is parallel to the line 4x
-2y +5=0.
Answer

The equation of the given curve is* ~ dr-2.

The slope of the tangent to the given curve at any point (x, y) is given by,

dv 3

dx 2B3x-2
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CIRERN
FREE Edu‘l&ﬁﬁﬂyation of the given lineis 4x — 2y + 5 = 0.
5
y=2x+= - .
4x-2y+5=00 2 (which is of the form ¥ = " +¢)

OSlope of the line = 2
Now, the tangent to the given curve is parallel to the line 4x — 2y — 5 = 0 if the slope of

the tangent is equal to the slope of the line.

- =2
2+/3x-2
= 3.‘(—2=E
4
L
:>3r.r—2—i
16
. 9 41
= 3x=—+4+2=—
16 16
41
= X =—
48

4 :_\H:H] I R T N

When x y=_{3 -2= -2= = ==,
48 48 Vie T 16 4
(4] Sj

COEquation of the tangent passing through the point L4E 4 is given by,

= 24y —18 = 48x - 41
= 48y 24y =123

Hence, the equation of the required tangent is 45% ~ 24y =23

The slope of the normal to the curve y = 2x*> + 3sinxat x = 0 is
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Ted | —

(A) 3 (B) 3(C) -3 (D)
Answer

v= 7% 4 3sin v
The equation of the given curve ist = =¥ 3sinx .

Slope of the tangent to the given curve at x = 0 is given by,
ﬁ
dx

Hence, the slope of the normal to the given curve at x = 0 is

} =4x+3cosx|  =0+3cos0=3
y=A}

—1 -1
Slope of the tangentatx =0 3

The correct answer is D.

The line y = x + 1 is a tangent to the curve y? = 4x at the point
(A) (1, 2) (B) (2, 1) (C) (1, =2) (D) (-1, 2)
Answer

The equation of the given curve is? =¥

Differentiating with respect to x, we have:

2 Ld—‘ =4 = d—L = E
© o de
Therefore, the slope of the tangent to the given curve at any point (x, y) is given by,
dv 2
acy

The given lineis y = x + 1 (which is of the form y = mx + ¢)

[ Slope of the line = 1

The line y = x + 1 is a tangent to the given curve if the slope of the line is equal to the
slope of the tangent. Also, the line must intersect the curve.

Thus, we must have:
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¥

= y=2

Mow,y=x+l=x=p-l=x=2-1=]

Hence, the line y = x + 1 is a tangent to the given curve at the point (1, 2).

The correct answer is A.
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1. Using differentials, find the approximate value of each of the following up to 3 places

of decimal

() V253 (iiy V495 iy V0.6
(13)

! |
{U.UU‘J}J &999_}'-1'

(iv) (v) ( (vi)

(26)° iy (255)° 1y (82)¢

(vii)

1
oo (4012 ) (0.0037) o (26.57);

1 3

(i) (81.5) (xiv) (3.968): (xv) (32.15)s
Answer

(iy V253

Consider” =+/x . Let x = 25 and Ax = 0.3.
Then,

Ay =x+Ax —x =253 -425 =253 -5

=253 =Ay+5

Now, dy is approximately equal to Ay and is given by,

s
dy = ﬁ]f‘w— ! (0.3) [as;*-«fﬂ

-\dx 2\,‘{;

(0.3)=0.03

1
2425

; /25.3;
Hence, the approximate value of ¥<---'is 0.03 + 5 = 5.03.

(iiy V49.5

Consider¥ =/x . Let x = 49 and Ax = 0.5.
Then,
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=495 =7+ Ay
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Now, dy is approximately equal to Ay and is given by,

[ dy
- ! .
dy = Ldl]jx—%x{ﬂ.s] [as; —\.E]

|

=—1( 0. 5 =0.035
2J_( {
Hence, the approximate value of V49.5 is 7+ 0.035 = 7.035.
Consider =“'I';. Let x = 1 and Ax = — 0.4.
Then,
=-¢'x+ﬁr—u"'._=v'ﬂ~f!—|

— J0.6 =14+ Ay

Now, dy is approximately equal to Ay and is given by,

[ v
dy |\%]M L,{ﬂ.x] [asy ﬁ]

240 x

%{—ﬂ,-ﬂr}

Hence, the approximate value of V0.6 isl+(-0.2)=1-0.2=0.8.

(ivy (0:009)°

Consider? =* . Let x = 0.008 and Ax = 0.001.
Then,
1 |
Ay :{xmx} —(x } =(0. m::@ ~(0.008): =(0.009): —0.2

|
= (0.009)7 =0.2+ Ay

Now, dy is approximately equal to Ay and is given by,

Get CBSE Notes Vldeo Tutorlals Test Papers & Sample Papers
Page 63 of 138



Chapter 6 — Application of Derivatives Maths

[ I
a.ﬁy:x“}
_0.001

001) =0.008
0.12

D093
Hence, the approximate value of{u 00 ) is 0.2 + 0.008 = 0.208.

99910

I
. .1,' = {IT}IIJ
Consider . Let x =1 and Ax = —0.001.
Then,

1 1 1
Ay =(x+Ax)io —(x )i =(0.999)0 -1
|
= (0.999)0 =1+ Ay

Now, dy is approximately equal to Ay and is given by,

= %{—f}.l’}l’}l] =-0.0001

L9099

Hence, the approximate value of{u } is1+ (—0.0001) = 0.9999.
|
i

(vi) {lj-}
I

X

s — ot
Consider? =% . Let x = 16 and Ax = —1.

Then,

Ay =(x+ Ax)i —xt = (15)5 ~(16)3 = (15)+ -2
— (15)+ =2+ Ay

Now, dy is approximately equal to Ay and is given by,
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TR
TR [ :
FREE Edllﬁ_}"= '”r_]' Ay = I ; [,qu} asy= xt
\dx ) 4(1-]'4 L

— =-0.03125

i
Hence, the approximate value of{lj) is 2 + (—0.03125) = 1.96875.

|
(winy (26)

i
Consider” ~ (x) . Let x = 27 and Ax = —1.
Then,

1 1

A =(x+ Ax): —(x)5 =(26) ~(27)F =(26): -3

|
=(26): =3+ Ay
Now, dy is approximately equal to Ay and is given by,
) [ I
,;{.;:[d_}‘J Ax = —(Ax) as y = {r]-‘
dx 3{1)5 |
- (-1)=2L=-00370
3(27):

e E
Hence, the approximate value of{'ﬁ} is 3 + (—0.0370) = 2.9629.

(viy (293)°

1
Consider” [.r}- . Let x = 256 and Ax = —1.
Then,

Ay =(x+ Ax)i - (x)1 = (255) —(256)+ = (255) —4
= [255}I4 =4+ Ay

Now, dy is approximately equal to Ay and is given by,
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FREE Edlcﬁ_‘=|£ Ar=—(av) as y = x*
\dx 4(1-]'4 L
L (1) _'f] —0.0039
4(256)1 Al

Hence, the approximate value of{zjj-:iJ is4 + (—0.0039) = 3.9961.

) 1

(ix) (32)°
I

Consider? =%

Then,

4
. Let x = 81 and Ax = 1.

Ay =(x+Ax): - (x)i =(82)i —(81)F =(82)¢ -3
= {BE]*I =Ay+3

Now, dy is approximately equal to Ay and is given by,

-"dl'_.\. I B 1
dy =| = |Ax =——(Ax) asy=x*
N () L
Lom=-—1. ﬁ 0.009
agnye 40

4
Hence, the approximate value ofIiEszj is 3 + 0.009 = 3.0009.

oy (401):

Consider? =%, Let x = 400 and Ax = 1.

Then,
Ay = Jx + Ax —+Jx = 401 - 100 = J401-20
=401 =20+ Ay

Now, dy is approximately equal to Ay and is given by,
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[dx] 2‘III,;{ﬂLx] |:r.1h_1»—.‘( }

1 1 -

=3730! }—E—U.Uzw

i 401 ;
Hence, the approximate value of ™ is 20 + 0.025 = 20.025.

(xiy (0:0037)2

Consider? =%, Let x = 0.0036 and Ax = 0.0001.
Then,

1 1 | 1 |
Ay=(x+Ax)? =(x)2 =(0.0037)2 - (0.0036)2 =(0.0037)2 -0.06

1
= (0.0037)2 = 0.06+ Ay

Now, dy is approximately equal to Ay and is given by,

dy = | n’y Ax = l,_ [iu] asy=x?
c?"U 24x |
(0.0001)
Zxﬂ 06
001
_ 0.0001_ 0.00083
.12
1
Thus, the approximate value Of[[},[}[}?:?}l is 0.06 + 0.00083 = 0.06083.
1
2 3
(xii) {'6'5”
1
Consider” =" . Let x = 27 and Ax = —0.43.
Then,
1 ] I
Ay =(x+ J:c] {26 ST] [2?}* =[26.5?}F -3

I
= (26.57) =3+Ay

Now, dy is approximately equal to Ay and is given by,
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i N . !
FREE Edl. ufv=| i Ax = 1 . [.-'\J.] as r'|.~=x.‘-
S 3w
I

=3 (9}{ 0.43)
0.4
27

-
2

=-0.015

. {26.57}-‘- .

Hence, the approximate value of is 3 + (—0.015) = 2.984.
1
(81.5)4
(xiii) (81.5)

|
. y=x*
Consider- ~ -

Then,

. Let x = 81 and Ax = 0.5.

Ay =(x+ Ax)t - (x)¢ = (81.5)F —(81)1 =(81.5)1 -3
:>|[!3I.:"r}I4 =3+ Ay

Now, dy is approximately equal to Ay and is given by,

T [ [
dv |d—L Ax L[ai‘-..n] as y=x*
'\.dl)'l 4(_1-]_1 L

1 _05)=22_0.0046

4{3}-‘ 108
1

G4
Hence, the approximate value of{m } is 3+ 0.0046 = 3.0046.

o) (3.968):

¥" letx = 4 and Ax = — 0.032.

Consider? =*
Then,

3 3 3 ] 3
Ay =(x+Ax)? —x? =(3.968)2 —(4)2 =(3.968): -8

3

= (3.968): =8+ Ay
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CIREYR]
FREE Edu\oWody is approximately equal to Ay and is given by,
K(I{}.l"l 3 | [ :
ﬂf}’=|k3 Iﬁl'=5(.1'}- (&1] asy=x-

=%{3}{ 0.032)

= —0.096

9682

3
Hence, the approximate value of{ is 8 + (—0.096) = 7.904.

1
(xyy (3215)°
|

Consider? =%, Let x = 32 and Ax = 0.15.
Then,
i 1 I i i
Ay ={x+ ﬂo:}-" -7 =(32.15}ﬁ —{32}5 =(32. 15)5 -2
|
:[BE.IS]* =2+ Ay
Now, dy is approximately equal to Ay and is given by,

£ ' !
,gf\:: ﬂ Ax:%[ﬂl] F.i.“-r'lf‘=.‘£'"

I\Cﬂr.\',-' 5{.1:}5 L

= L
wh

32.15)5
Hence, the approximate value of{ 2] } is 2 + 0.00187 = 2.00187.

Find the approximate value of f (2.01), where f (x) = 4x*> + 5x + 2
Answer

Let x = 2 and Ax = 0.01. Then, we have:

f(2.01) = f(x + Ax) = 4(x + Ax)* + 5(x + Ax) + 2

Now, Ay = f(x + Ax) — f(x)
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() + () Ax (as dx = Ax)
= f(2.01) = (4x° +5x+2) + (8x+5) Ax
=[4(2) +5(2)+2]+[8(2)+5](0.01) [as x =2, Ax=0.01]
=(16410+2)+(16+5)(0.01)
=28+(21)(0.01)
=28+0.21
=2821

Hence, the approximate value of f(2.01) is 28.21.

Find the approximate value of f (5.001), where f (x) = x> — 7x*> + 15.

Answer
Let x = 5 and Ax = 0.001. Then, we have:

F(5.001) = f(x+Ax)=(x+Ax) =7 (x+Ax) +15
Now, Ay = f(x+Ax)- f(x)
f{x + .'ji.!.') = _fl[x] + Ay

= fl[.z} + _,r‘"{.\'] Ay {as dy = ﬂu}
= [(5.001) = (x" = 7" +15)+(3x" —14x) Ax
- [{5}* ~7(5)° +15} +[3{5]‘2 - |4{5}}{n.ﬂm} [x=5,Ac=0.001]
=(125-175+15)+(75-70)(0.001)
=-35+(5)(0.001)
= -35+0.005
= —34.995

Hence, the approximate value of f (5.001) is —34.995.

Find the approximate change in the volume V of a cube of side x metres caused by

increasing side by 1%.
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The volume of a cube (V) of side x is given by V = x°.
.~_JV=(‘” Wm
dx )
= {3.\:’];’“

oo < XII Chapter 6 - Application of Derivatives Maths
& eVidyarihi

=(3x7)(0.01x) [as 1% of x is 0.01x]
=0.03x"

Hence, the approximate change in the volume of the cube is 0.03x> m>.

Find the approximate change in the surface area of a cube of side x metres caused by
decreasing the side by 1%
Answer

The surface area of a cube (S) of side x is given by S = 6x°.

ds _(dS
=(12x)Ax
=(12x)(0.01x) [as 1% of x is 0.01x]
=0.12x"

Hence, the approximate change in the surface area of the cube is 0.12x* m?.

If the radius of a sphere is measured as 7 m with an error of 0.02m, then find the
approximate error in calculating its volume.

Answer

Let r be the radius of the sphere and Ar be the error in measuring the radius.
Then,

r=7mandAr=0.02m

Now, the volume V of the sphere is given by,
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ik

ﬁ =dur
dr

v =| ﬁ]m-
\dr
:{4m':]i~.r

]

=4n(7) {ﬂ.ﬂ?] m' =3.92am’

Hence, the approximate error in calculating the volume is 3.92 n m?>.

If the radius of a sphere is measured as 9 m with an error of 0.03 m, then find the
approximate error in calculating in surface area.
Answer
Let r be the radius of the sphere and Ar be the error in measuring the radius.
Then,
r=9mandAr=0.03m
Now, the surface area of the sphere (S) is given by,
S = 4nr?
ds

S —=8mr
dr

EA
) dr )
=(8mr)Ar
=8m(9)(0.03) m*
2.16m m’
Hence, the approximate error in calculating the surface area is 2.16n m?2.

Ar

~dS

If f (x) = 3x*> + 15x + 5, then the approximate value of f (3.02) is
A. 47.66 B. 57.66 C. 67.66 D. 77.66

Answer
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£(3.02)= f(x+Ax)=3(x+Ax)" +15(x+ Ax) +5
Now, Av = f(x+Ax)— f(x)
= f(x+Ax)= f(x)+ Ay
= f(x)+ f(x)Ax (As dx = Ax)
= [(3.02) = (3x" +15x+5) +(6x+15) Ax

P 4 XII Chapter 6 — Application of Derivatives Maths
& eVidyartli

=[3(3)" +15(3)+5]+[6(3)+15](0.02) [Asx=3, Ax=002]
=(27+45+5)+(18+15)(0.02)
=77+(33)(0.02)
=77+0.66
=77.66
Hence, the approximate value of f(3.02) is 77.66.

The correct answer is D.

The approximate change in the volume of a cube of side x metres caused by increasing
the side by 3% is
A. 0.06 x> m* B. 0.6 x> m?> C. 0.09 x> m* D. 0.9 x> m’
Answer
The volume of a cube (V) of side x is given by V = x°.

[ dV
=\ dx }ﬂu‘

= (3x7 ) Ax

sodV

=(3x7)(0.03x) [As 3% ofx is 0.03x]
=0.09x" m’

Hence, the approximate change in the volume of the cube is 0.09x> m>.

The correct answer is C.
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Find the maximum and minimum values, if any, of the following functions given by
(i) f(x) = (2x — 1)* + 3 (ii) f(x) = 9x* + 12x + 2

(i) fix) = =(x = 1)> + 10 (iv) g(x) = x> + 1

Answer

(i) The given function is f(x) = (2x — 1)* + 3.

It can be observed that (2x — 1)? = 0 for every x O R.

Therefore, f(x) = (2x — 1)?> + 3 = 3 for every x O R.

The minimum value of fis attained when 2x — 1 = 0.

.-.lxl 7 .l \I_'
73 )=(231] +3
OMinimum value of f= =4/ ~» =/ =3

Hence, function f does not have a maximum value.
(ii) The given function is f(x) = 9x* + 12x + 2 = (3x + 2)* — 2.
It can be observed that (3x + 2)? > 0 for every x (I R.
Therefore, f(x) = (3x + 2)> — 2 > -2 for every x O R.
The minimum value of fis attained when 3x + 2 = 0.
2

X=—

3x+2=00 3
7 —720 -

fl-%1= ?{T]u -2=-2
' 3 R

OMinimum value of f= - -~ 4

Hence, function f does not have a maximum value.

(iii) The given function is f(x) = — (x — 1)* + 10.

It can be observed that (x — 1)? > 0 for every x O R.
Therefore, f(x) = — (x — 1)> + 10 < 10 for every x O R.
The maximum value of f is attained when (x — 1) = 0.
x-1)=00x=0

OMaximum value of f= f(1) = — (1 — 1)> + 10 = 10
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(iv) The given function is g(x) = x*> + 1.

Hence, function g neither has a maximum value nor a minimum value.

Find the maximum and minimum values, if any, of the following functions given by
MHfx)=Ix+2]=-1(i)gx)==-|x+1| +3

(iii) h(x) = sin(2x) + 5 (iv) f(x) = |sin 4x + 3|

V)h(xX) =x+4,x= (-1,1)

Answer

x+2|—]

(i) fix) =

5

x+2/=0
We know that for every x 0 R.

e+2[-1z-1
Therefore, f(x) = for every x 0 R.

. . . x+2[=0
The minimum value of f is attained when .
.¥—~2|=U
== x=-2

=|-249|-1==
OMinimum value of f = f(-2) = | 2+'| ] ]

Hence, function f does not have a maximum value.

(i gy = <113

x+1|=0

We know that |_ for every x OO R.

—lx+1]+3<3

Therefore, g(x) = for every x O R.

+1l=0
The maximum value of g is attained when . 1| ( .

x+l|:{l
=y =1

—|=1+1|+3=3
OMaximum value of g = g(—1) = I+1{+3=3

Hence, function g does not have a minimum value.
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We know that — 1 < sin 2x < 1.
O-1+5<sin2x+5<1+5
O04<sin2x+5<6

Hence, the maximum and minimum values of h are 6 and 4 respectively.

sin4x+3|

(iv) f(x) =
We know that —1 < sin 4x < 1.

O2<sind4x+ 3 <4

D2<sin4x+3|<4

Hence, the maximum and minimum values of f are 4 and 2 respectively.
(VYh((x)=x+1,x0(-1,1)
Lo F1<x, +1
Here, if a point x, is closest to —1, then we find 2 for all xo O (-1, 1).
x, +1
x, +1 <A1
Also, if x; is closest to 1, then 2 for all x; O (-1, 1).

Hence, function hA(x) has neither maximum nor minimum value in (-1, 1).

Find the local maxima and local minima, if any, of the following functions. Find also the
local maximum and the local minimum values, as the case may be:
(). f(x) = x* (ii). g(x) = x> — 3x
T
X <—
(iii). h(x) = sinx + cos, 0 < 2 (iv). f(x) = sinx —cos x, 0 < x < 2n

(V). fix) = x> — 6x*+ 9x + 15

-
“

g{.\']=£ F—, x>0
(vi). 2 x

(viii).

Answer
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. f (x}: 2x
MNow,
_f"{_r)zﬂ:‘;- xr=0

Thus, x = 0 is the only critical point which could possibly be the point of local maxima or

local minima of f.

fr(0)=2

We have- , which is positive.

Therefore, by second derivative test, x = 0 is a point of local minima and local minimum
value of fat x = 0 is f(0) = 0.

(ii) g(x) = x> — 3x

~g'(x)=3x"-3

MNow,

g'{x}=l}:~3x:=3:}x=il

g'{x]zﬁx
g'(1)=6=0
g'(-1)=-6<0

By second derivative test, x = 1 is a point of local minima and local minimum value of g

atx=1isg(1l) =1*-3 =1 -3 = -2. However,

x = —1 is a point of local maxima and local maximum value of g at

x=-1isg(1l)=(-1)*-3(-1)=-1+3=2.
L

(i) h(x) = sinx + cosx, 0 < x < 2

. H(x) = cosx—sin x

f?“{l‘]=f}:>sin_r:cosx:ﬂanx:I::»x:EF 0, ENI

4 2)
Ir”{x) =—5INX—COSY= —{sin X +cos x}
i b

T | l
h"L— =—(—_+—_1=-—=— 2 <0
4) W2 2 2
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Therefore, by second derivative test, 4isa point of local maxima and the local
n n n 1 1
=2 h[—]—sm—+cos———+T—~ﬁ.
maximum value of h at 4is 4 4 2

(iv) f(x) =sinx —cos x, 0 < x < 2n
f'(x)=cosx+sinx
f'(x) IZI'::H:-::usx——s.m,vc::»tan1r——I:>x-B:TﬂE (0.2x)

f"(x)==sinx+cosx

In . 3n 3n I 1
" e it e = e =2 = ()
f[ ] sin—-+cos— J_ NA =

o T n n ]
f [—] —sm—++:os—=— —_=..f_:»[}
4 V2 2
in
r=—
Therefore, by second derivative test, 4 isa point of local maxima and the local
In
Xr=—
maximum value of f at 4 s
m . am n 1 1
f{—]=sm“}——cos—=—+—=ﬁ. _1::?—?[
4 4 4 V2 2 However, 4 isa point of local minima and

L f[?—ﬂW—5|n?—ﬂ—cos?—“=—L—L=—v'§
the local minimum value of f at 44 N 4 4 4 \E \E
(v) f(x) = x> — 6x*> + 9x + 15

S f(x)=3x"-12x+9

[(x)=0 =3(x" -4x+3)=0

=3(x-1)(x=3)=0

=x=1, 3

Now, f"

{x]=6x—12=6{.r—2}

F(1)=6(1-2)=-6<0

f(3)=6(3-2)=6=0

=
Il
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maximum value of fatx =1isf(1) =1 -6 + 9 + 15 = 19. However, x = 3 is a point of

local minima and the local minimum value of fat x = 3 is f(3) = 27 — 54 + 27 + 15 =

15.
(x)=342.x>0
glx)==+=,x>
(vi) 2 x
. 1 2
ElX)|=———=
(x)=5 -~
Now,
' .2 2
g{x}=l}glve5x—2=§:>x‘=4::&x=+_2

Since x > 0, we take x = 2.

MNow,
o 4
g (-"]‘=—;
X
o _ 4_1
g (2)—?—5}{1

Therefore, by second derivative test, x = 2 is a point of local minima and the local

F=—=14+1=2.

b2 | b2
| b

minimum value of gat x = 2 is g(2) =

(¥)=—

g 3
(vii) x°+2

~(2v)

{x: +2]1

ng'(x)=

-2x

—=0=x=0

g'(x)=0= (v e2)

Now, for values close to x = 0 and to the left of 0,‘gr H} > 0.

x)<0

Also, for values close to x =

0 and to the right of 0,g {
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FREE Edu‘laﬁlisfﬁre, by first derivative test, x = 0 is a point of local maxima and the local
. 1
2(0)is =—,
maximum value of 0+2 2

(viii) Sx)=x1-x, x>0

L x)=Al-x+x- ; ~)=l-x-—=

AR 2m( )=V 2J1-x
C2(1-x)-x  2-3x

BTN RN

. 2-3x 2
fx)=0= =l=2-3x=0=x==
{ ] 241-x 3
- - -1
f"(r}_l «.El—r[—,a}—[z—,'}x}[zﬂ]
2 1-x
I
l—x(-3)+(2-3x ( ]
3|
2(1-x)
_—ﬁ{1—x]+[1—3x]
4(1-x)
_ 3x—4
4(1-x):
5
3[ ]—4
) o —
f"(:]: 3 3 = 45 = 1 3 {{]
3 24z 1%z 1%2
4[]— 4 2 J
3 3 i
2
X=—
Therefore, by second derivative test, Jisa point of local maxima and the local
2
==
maximum value of f at 3is
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Prove that the following functions do not have maxima or minima:
(i) f(x) = € (ii) g(x) = logx

(i) h(x) = x> + x> + x + 1

Answer

i. We have,

fix) = &

. -lf-r{x‘j — (’T
f(x)=0, thene" =0

Now, if . But, the exponential function can never assume 0 for any

value of x.

7'(c)=0.

Therefore, there does not exist c[1 R such that"
Hence, function f does not have maxima or minima.
ii. We have,
g(x) = log x
. 1
()=
Sincelog x is defined for a positive number x, g'(x) > 0 for any x.
g'(c)=0

Hence, function g does not have maxima or minima.

Therefore, there does not exist c[d R such that

iii. We have,
h(x)=x>+x*+x+ 1
A (x)=3x"+2x+1

Now,

,
h(x)=003x*+2x+1=00 6 3
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Hence, function h does not have maxima or minima.

Find the absolute maximum value and the absolute minimum value of the following

functions in the given intervals:

f(x)=x"xe[-2,2] (i) S(x)=sinx+cosx,xe[0n]

(i
) [ [ g9
Sx)=dx——x"xe|-2,—
(iil) 2 L2
(iv) .f'l[_1'}:{.'r—1]:+3,xe[—E.I]
Answer

(i) The given function is f(x) = x3.
o (x) =3

Now,

f(x)=0 = x=0

Then, we evaluate the value of f at critical point x = 0 and at end points of the interval

[-2, 2].
f(0) =0

f(-2) = (=2)° = -8
f2) = (2)®=8

Hence, we can conclude that the absolute maximum value of fon [—2, 2] is 8 occurring
at x = 2. Also, the absolute minimum value of fon [-2, 2] is —8 occurring at x = 2.
(ii) The given function is f(x) = sin x + cos x.

o f'(x)=cosx—sinx

MNow,

.y : s
f(x)=0 = smx_msr::*tanx_l:».T_E

T
I==
Then, we evaluate the value of f at critical point 4 and at the end points of the

interval [0, n].
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D):sinﬂ+cuaﬂ:ﬂ+l:

n)=sinm+eosm=0-1=-1

Hence, we can conclude that the absolute maximum value of fon [0, n] is“'ﬁ occurring

T
X==

at 4 and the absolute minimum value of f on [0, n] is —1 occurring at x = n.
| I
flx)=4x—=x".
(iii) The given function is 2
" |
S {x}= 4—5{2?(] =4—-x
MNow,
f(x)=0 = x=4

Then, we evaluate the value of f at critical point x = 4 and at the end points of the

(%
[_2‘ i}
) ¥
interval “d,

.f(4}=1ﬁ_%{|6):]6_323

f(-2) :_3_%(4] = 8§-2=-10

L2 2

9y (9 9
;’L— 4 —]—l[—J IE—E 18-10.125=7.875
2, 2 8

9

P }
5
Hence, we can conclude that the absolute maximum value of fon{ <-is 8 occurring

9
{_2. "}
at x = 4 and the absolute minimum value of f on “=J1is =10 occurring at x = =2.

S(x)=(x-1)" +3.

(iv) The given function is
f'(x)=2(x~1)

Now,
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Then, we evaluate the value of f at critical point x = 1 and at the end points of the
interval [-3, 1].

F()=(1-1) +3=0+3=3

F(-3)=(-3-1)+3=16+3=19

Hence, we can conclude that the absolute maximum value of fon [-3, 1] is 19 occurring

at x = =3 and the minimum value of fon [-3, 1] is 3 occurring at x = 1.

Find the maximum profit that a company can make, if the profit function is given by
p(x) = 41 — 24x — 18x?
Answer

The profit function is given as p(x) = 41 — 24x — 18x°.
Sop(x)=-24-36x

p'(x)=-36
MNow,

=24 2
x)=0 = x=—-=-=
p'(x) %3
Also

2
r=—-=
3

By second derivative test, is the point of local maxima of p.

f 2
. Maximum profit = p[ —;
\

|
:41—24[—§]—15[—§]

=41+16-8
=49

-

Hence, the maximum profit that the company can make is 49 units.
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f{x] =x 4 L,I,x;&(l
X is

Find the intervals in which the function f given by

(i) increasing (ii) decreasing

Answer
) a0
f[x}-x +x"

, 3 3x"-3
S x)=530x - =
fi)=3 5=

Then, f(x)=0=3x"-3=0=x"=1=x=1%I
Now, the points x = 1 and x = —1 divide the real line into three disjoint intervals

(—e0,~1),(~L1), and (I,20).

i.e.,

(—o0,—1) and (1,) f'(x)=0.

In intervals i,e., whenx < —-land x> 1,

Thus, when x < —1 and x > 1, fis increasing.

f'(x)=<0.

Ininterval (-1, 1) i.e., when -1 <x < 1, -

Thus, when -1 < x < 1, fis decreasing.

At what points in the interval [0, 2n], does the function sin 2x attain its maximum value?
Answer

Let f(x) = sin 2x.

S (x)=2c0s2x

MNow,

f'(x)=0 = cos2x=0

Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers
Page 85 of 138




& eVid neBl8ss XII Chapter 6 - Application of Derivatives Maths
b & ayatait
FREE Education v =

T
Then, we evaluate the values of f at critical points 4
points of the interval [0, 2n].

. : 3 .3
j[£]=smE=LI( jrE]=sm—ﬂ=—l
4 2 L 4 2

n . Om Tn . In
f[T]=sm?=I.f(.T]=smT=—l

f(0)=sin0=0, f(2n)=sin2n =0

3 St In
4 4

3

4 and at the end

Hence, we can conclude that the absolute maximum value of fon [0, 2n] is occurring
b8 Sm
x=— r=—
at 4 and 4

What is the maximum value of the function sin x + cos x?
Answer

Let f(x) = sin x + cos x.
o f'(x)=cosx—sinx

Sn
i

.f"(-‘f]=ﬂ = sinx=cosxy =tanx=1=x=

|

Ki "{x] =—sinx—cosx= —[sin X+ COs _1;]
1 x)

are both positive. Also, we know that sin x and cos x both are positive in the first

Now will be negative when (sin x + cos x) is positive i.e., when sin x and cos x

m
fw{,l'} XE[U.EW
quadrant. Then, © * “will be negative when 4

x=
Thus, we consider

A

\

. T n 2
:—(sm +Cos W:— ]:—ﬁ{ﬂ
4 4) [ﬁ |

\

A PR SR NA ari Ne aloadas
cd © DOV ©

Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers
Page 86 of 138



Chapter 6 — Application of Derivatives Maths

FREE Education =
OBy second derivative test, f will be the maximum at 4 and the maximum value of f
) 1 1 2
= —SIH—+EDS———><———,_—\,E
is | J| \.@ \E V2

Find the maximum value of 2x> — 24x + 107 in the interval [1, 3]. Find the maximum
value of the same function in [-3, —1].

Answer

Let f(x) = 2x° — 24x + 107.

L ff(x)=6x"-24=6(x"-4)
Now,
f(x)=0 ::nf:{x:' —4:] D=x'=4=x=142

We first consider the interval [1, 3].

Then, we evaluate the value of f at the critical point x = 2 O [1, 3] and at the end points
of the interval [1, 3].

f(2) = 2(8) — 24(2) + 107 =16 — 48 + 107 = 75

f(1) =2(1) — 24(1) + 107 =2 - 24 + 107 = 85

f(3) = 2(27) — 24(3) + 107 =54 — 72 + 107 = 89

Hence, the absolute maximum value of f(x) in the interval [1, 3] is 89 occurring at x =
3.

Next, we consider the interval [-3, —1].

Evaluate the value of f at the critical point x = =2 [0 [-3, —1] and at the end points of
the interval [1, 3].

f(—=3) =2 (-27) — 24(-3) + 107 = =54 + 72 + 107 = 125

f(-1)=2(-1) - 24 (-1)+ 107 = =2 + 24 + 107 = 129

f(-2) = 2(-8) — 24 (-2) + 107 = —16 + 48 + 107 = 139

Hence, the absolute maximum value of f(x) in the interval [-3, —1] is 139 occurring at x
= -2.
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Answer
Let f(x) = x* — 62x% + ax + 9.

s (x)=4x"-124x+a

It is given that function f attains its maximum value on the interval [0, 2] at x = 1.

.:_f"{]}:t’}
=4-124+a=0
= a=120

Hence, the value of a is 120.

Find the maximum and minimum values of x + sin 2x on [0, 2n].
Answer

Let f(x) = x + sin 2x.

L f(x)=1+2cos2x
't I m ' In
Now, f [.r}zﬂ_"uml\'z——z—cm—:cm m—— |=cos—
2 3 3) 3
- 2n
2x=2n +— nel
3
n
=x=mt—, nelk
3
n 2x 4w Sm
=>x==,"——,—¢[0.2n]
I3 3 3
T 2m 4m Sm
X=—,—, —
33 3 3

Then, we evaluate the value of f at critical points
of the interval [0, 2n].

and at the end points
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Hence, we can conclude that the absolute maximum value of f(x) in the interval [0, 2n]
is 2n occurring at x = 2n and the absolute minimum value of f{(x) in the interval [0, 2n]

is 0 occurring at x = 0.

Find two numbers whose sum is 24 and whose product is as large as possible.
Answer
Let one number be x. Then, the other number is (24 — x).

Let P(x) denote the product of the two numbers. Thus, we have:

P(x)=x(24-x)=24x-x’

P (x)=24-2x
P'(x)=-2

MNow,

P(x)=0 = x=12
Also,
P"(12)=-2<0

(OIBy second derivative test, x = 12 is the point of local maxima of P. Hence, the product

of the numbers is the maximum when the numbers are 12 and 24 — 12 = 12.

Find two positive numbers x and y such that x + y = 60 and xy? is maximum.
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers
Page 89 of 138




P 4 XII Chapter 6 — Application of Derivatives Maths
& eVidyartli

CIREYR]
FREE Edu¢iitsi
The two numbers are x and y such that x + y = 60.
Oy =60-x

Let f(x) = xy*>

= f(x)= x[ﬁﬂ—x]j

(%)= (60-x) =3x(60-x)°
=(60-x)"[60-x-3x]
=(60-x)" (60-4x)

And, £"(x) = =2(60 - x)(60 - 4x) - 4(60 - x)’
=-2(60-x)[60—4x+2(60-x)]
=-2(60-x)(180—6x)
= —12(60-x)(30-x)

Now, f'(x)=0 = x=60orx=15

When x =60, /" (x)=0.
Whenx =15, f"(x)=—12(60-15)(30-15)=-12x45x15 <0.

OBy second derivative test, x = 15 is a point of local maxima of f. Thus, function xy? is
maximum when x = 15 and y = 60 — 15 = 45,

Hence, the required numbers are 15 and 45.

Find two positive numbers x and y such that their sum is 35 and the product x%y” is a
maximum

Answer

Let one number be x. Then, the other number is y = (35 — x).

Let P(x) = x’y°. Then, we have:
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FREE EdiP(x)=x*(35-x)
o P(x)=2x(35-x) -5 (35-x)"
=x(35-x)"[2(35-x)-5x]
¥(35-x)"(70-7x)

¥)=7(35-x)" (10—x)+ 7x| <(35-x)' —4(35-x) (10-x) |
=7(35 I}L{I'U—‘{}—?T(:‘fj—..‘f}.l—23.‘({35—1‘]3(]{]—,‘[]

(35-) [ (35— %) (10— x) - x(35- ]-4x[|:}—.r}j
=7(35-x) [350-45x+x" —35x+x" —40x+ 4x" |
=7(35-x)

35—-x

35— %) (6x" ~120x+350)

! -
Now.P(x)=0 = _ o\ _ 35 x= 10
When x = 35,”r {” - f[.r}: 0 and y = 35 — 35 = 0. This will make the product x? y°
equal to 0.
When x = 0, y = 35 — 0 = 35 and the product x?y? will be 0.
0 x = 0 and x = 35 cannot be the possible values of x.

When x = 10, we have:
P"(x)=7(35-10)" (6x100-120x10 +350)
=7(25) (-250) <0

[0 By second derivative test, P(x) will be the maximum when x = 10 andy = 35 — 10 =
25.

Hence, the required numbers are 10 and 25.

Find two positive numbers whose sum is 16 and the sum of whose cubes is minimum.
Answer
Let one number be x. Then, the other number is (16 — x).

Let the sum of the cubes of these nhumbers be denoted by S(x). Then,
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8 (x)=3x" =3(16-x)". S"(x) =6x+6(16-x)
Now, §'(x)=0 = Jx’—J{I{a—x}" =0
= x"—(16-x) =0

= x —256-x" +32x=0

256
—x= =
32
Now, S"(8)=6(8)+6(16-8)=48+48=96>0

[0 By second derivative test, x = 8 is the point of local minima of S.
Hence, the sum of the cubes of the numbers is the minimum when the numbers are 8
and 16 — 8 = 8.

A square piece of tin of side 18 cm is to made into a box without top, by cutting a square
from each corner and folding up the flaps to form the box. What should be the side of
the square to be cut off so that the volume of the box is the maximum possible?

Answer

Let the side of the square to be cut off be x cm. Then, the length and the breadth of the
box will be (18 — 2x) cm each and the height of the box is x cm.

Therefore, the volume V(x) of the box is given by,

V(x) = x(18 — 2x)?
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18
18-2x)[18 - 2x - 4x]
18-

2x)(18-6x)
<2(9-x)(3-x)

=-24(6-x)

Now, V' x)=
ow. V'(x) U:>x=90rx=3

If x = 9, then the length and the breadth will become 0.
Sex # 9,
=x = 3.

Now, V'(3)=-24(6-3)=-72<0

- By second derivative test, x = 3 is the point of maxima of V.
Hence, if we remove a square of side 3 cm from each corner of the square tin and make

a box from the remaining sheet, then the volume of the box obtained is the largest

possible.

A rectangular sheet of tin 45 cm by 24 cm is to be made into a box without top, by
cutting off square from each corner and folding up the flaps. What should be the side of
the square to be cut off so that the volume of the box is the maximum possible?
Answer

Let the side of the square to be cut off be x cm. Then, the height of the box is x, the
length is 45 — 2x, and the breadth is 24 — 2x.

Therefore, the volume V(x) of the box is given by,
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= x(1080-90x —48x +4x" |
= 4x’ —138x" +1080x
“V'(x)=12x" —276x+1080
12(x* —23x+90)
=12(x-18)(x—35)
V"(x)=24x-276 =12(2x - 23)

F'x)=0

Now, “) ( —~x=18andx =5

It is not possible to cut off a square of side 18 cm from each corner of the rectangular
sheet. Thus, x cannot be equal to 18.

Ox =5
NOW’V"{S}: 12(10-23)=12(-13)=-156 <0

-~ By second derivative test, x = 5 is the point of maxima.
Hence, the side of the square to be cut off to make the volume of the box maximum

possible is 5 cm.

Show that of all the rectangles inscribed in a given fixed circle, the square has the
maximum area.

Answer

Let a rectangle of length / and breadth b be inscribed in the given circle of radius a.

Then, the diagonal passes through the centre and is of length 2a cm.

Now, by applying the Pythagoras theorem, we have:
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— b =4g° =T’
= bh=+da' -1"

OArea of the rectangle, 4 =/V4a" =1

2
da* 1" +1 2N =A~aa® -1’ _"—
o } o
_da’ -2
Vada' - 1*

Vaa® — 1 (~41) (447 —QF)—2 {4__"“_:‘12

E\Ja—a’{

d*A
dr (40’ -1%)
) (4.:;—’ —F)(—4!}+I(4a" -2r)
(4a” -1 }

_-2dt+2r _-2(6a’ -1)

i 3

{4::3 —:’:}5 [4{;3 —I:)E

wa*i_: =0 gives 4a” =2’ = 1=12a

= b=v4a’ —2a° =~2a* =2a

MNow, when [ = «.Ea,

A —2(V2a)(6a’-247) g3
dr 224° C 22

.+ By the second derivative test, when! = \Eﬂ , then the area of the rectangle is the

=—4 =

maximum.

Since! =b :‘-'5“, the rectangle is a square.
Hence, it has been proved that of all the rectangles inscribed in the given fixed circle,

the square has the maximum area.
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is heights is equal to the diameter of the base.

Answer

Let r and h be the radius and height of the cylinder respectively.
Then, the surface area (S) of the cylinder is given by,

S =2mr* +2nrh

S - 2nr’

= =2
2mr

iﬁl]_,.
2nlr

Let V be the volume of the cylinder. Then,

V=ar‘h=mr’ {i[lJ—r} BLLP
2nlr 2

v S L d
Then, — == —3m°, - _6mr
2 dar’
Now, “==0=>=3n" =’ ==

[ 2 o
4 217 Y

When =iﬂ then d—{ —6m | 1l|||i)~::'[}l.

T dr-
. 8
r=—
[0 By second derivative test, the volume is the maximum when om
s 8 6 [ 1
MNow, when = —, then h=—— —)—r =3r—r=2r
6m 2o\

Hence, the volume is the maximum when the height is twice the radius i.e., when the

height is equal to the diameter.

Of all the closed cylindrical cans (right circular), of a given volume of 100 cubic
centimetres, find the dimensions of the can which has the minimum surface area?
Answer

Let r and h be the radius and helght of the cylinder respectlvely
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FREE Edu‘l&ﬁ%ﬁolume (V) of the cylinder is given by,
V =mr'h =100 (given)
100
= —

Sl

Surface area (S) of the cylinder is given by,

] 3 2
S=2nr +2nrh=2ar" +E
-
Ay ‘g
.',£=4nr - 2{}}{}‘ d —=4n+ 4{}.{}
dr reo e r
ﬁ =0 = 4dar= &
id e
;200 30
= ==
4x T

(3

.. S0
MNow, it is observed that when » = [—) .
T

|
d’s
dr’

= (.

OBy second derivative test, the surface area is the minimum when the radius of the

cIm

r’5[}]:~ i
cylinderis® ™
1

1
3 2 3
Wlmnr:[-jﬂ] L h= L —=. “3{50 1-=2[50 crl.
n 3 3 3 n/
n(ﬁuj. (501 ()
I

Hence, the required dimensions of the can which has the minimum surface area is given

- i
rg[_'}]_z (5{} ]_1
— | cm 2l — | cm.
by radius = - and height = T
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square and the other into a circle. What should be the length of the two pieces so that
the combined area of the square and the circle is minimum?
Answer
Let a piece of length / be cut from the given wire to make a square.
Then, the other piece of wire to be made into a circle is of length (28 — /) m.
L]
Now, side of square = 4
2mr =28 e’_H':_:IL

{28 a’}.
Let r be the radius of the circle. Then, <

The combined areas of the square and the circle (A) is given by,

A= (side of the square}’ + »°

L, n[;n (28 ;)I

- 1 2
= —} 281
16 4ﬂ:[ )
dd 2 2 [ 1
So—=—t+—(28-1)(-1)=———(28-]
dl lﬁ+4ﬂ{ )= 8 2?1( )
I:‘11_':]‘:1+L;~ﬂ'
di 8 In
Now, Hr—"!:(} = i—L{EH—F}:U
cdf 8 In
— IR _
L 4(28 f}zn
8n
= (m+4)[-112=0
)
e 112
n+4
- 2
o2 d'A o

Thus, when  T+4 dr’
[— 112
-~ By second derivative test, the area (A) is the minimum when n+4

Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers
Page 98 of 138




%‘ eVid 31858 XII Chapter 6 - Application of Derivatives Maths

CLLRANE
FREE Eddé%rf%nthe combined area is the minimum when the length of the wire in making the
112
square is T+4 cm while the length of the wire in making the circle
112 287
28 =20 em
is T+4 T+4

Prove that the volume of the largest cone that can be inscribed in a sphere of radius R is
8

27 of the volume of the sphere.

Answer

Let r and h be the radius and height of the cone respectively inscribed in a sphere of

radius R.

Let V be the volume of the cone.
1 .
V==mrh
Then,

Height of the cone is given by,

=R+NR - [ABC is a right triangle]

h=R+ AB
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o f 2 2 2 a3 (—2!‘)
7 2ER+J R - (ZER — Oy )—(anﬁ' —3mr )ﬁm

dar’ 3 ( )
:2;1;34.(}(!{2_}‘2}(2“!{ —9mr ] R +3nr?
27(R* -1 )
an‘dV:G . rR:anf‘—sz"
dar 3 IR =t

Z_j 2 .
:—23:%:@3432_ 2 o3 2R
R=r

= 4R (R —r*) =3 -2R*)
= 4R —4R*F =9 + 4R -12/°R°

— Opt QR
=8
9

7

Ifc:{],

When r* = 8 R, then d
9 o
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FREE Edl‘."wrllcnr:=§:?2.f?=.ﬁ+ HR:_ERI =R+ ’éR:=R+§=%R-

Therefore,

8 .
= T?X{V0|llln3 of the sphere)

¥

. S .8
Hence, the volume of the largest cone that can be inscribed in the sphere is o

the volume of thesphere.

Show that the right circular cone of least curved surface and given volume has an

altitude equal to “-Etime the radius of the base.
Answer
Let r and h be the radius and the height (altitude) of the cone respectively.
Then, the volume (V) of the cone is given as:
V= lm‘ h=h= i
m -
The surface area (S) of the cone is given by,

S = nrl (where / is the slant height)

=+
. 9K o VP
=mrr s = =
T o
__\lu“-{,.“__();,-
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LdS 25 9 )
" dr e
. 37:!.?"(1 .. L 91_;2

.r'jxl'n'r +9p?

~2n e —9!«"’
riNTrt 9y
B 2ntrt —gp?
#‘zw,'l?tj.i‘r’+9|f’z
S gp?
Now,— =0= 21" =9)* = p® =
dr 2n
9y d°S
r'=—,—>0
Thus, it can be easily verified that when 2n° dr
s V7
ro= 3
[0 By second derivative test, the surface area of the cone is the least when 2
1
. Vo3 (2t ) 3 2w
Whenr'=—, h=—x=— = J J2r.
2 e T 9 b1 3

Hence, for a given volume, the right circular cone of the least curved surface has an

altitude equal to “-Etimes the radius of the base.

Show that the semi-vertical angle of the cone of the maximum volume and of given slant
-1

height is a0 \E

Answer

Let 6 be the semi-vertical angle of the cone.

e [ﬂ. E},
It is clear that 2

Let r, h, and / be the radius, height, and the slant height of the cone respectively.
The slant height of the cone is given as constant.
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SRR
Now, r=/sin8and h=/cos 6

The volume (V) of the cone is given by,

= l:rl:(iT sin” ){:F cos f}:l

el

|
:Em" sin” fcostd

i h[[ in” 6(-siné) +msﬁ(25m3msﬁ‘]]
4o 3

=FTH[—sin”+25inUc053H]
2

d*v
do’

=f'?“[_hin?gmmgm‘ﬁ—atsin-‘f}msﬁ]
111 3 =2

=T“[2cos & —Tsin’ (J'cus(?]
2

s

=0

MNow,

= sin’ @ =2sin@cos’ 0

=tan’ @ =2
::»tanE?':\."E
=@ =tan ' 2

Now, when @ = tan™' 2. thentan® & =2 or sin” @ =2cos” 6.
Then. we have:
dv

- = i ﬁ[ cos’ @ —14cos’ H] ~4zl cos’0 <0 for B e [U, E}
de- 3 2

-1
OBy second derivative test, the volume (V) is the maximum when & = tan 2 .
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. )
volume is lan \-"r:

The point on the curve x> = 2y which is nearest to the point (0, 5) is

(242,4) ) (242,0)

(A) (B
(C) (0, 0) (D) (2, 2)
Answer

The given curve is x* = 2y.

(3
| X, 7}
For each value of x, the position of the point will be * A

I." H

[+ %]
2

The distance d(x) between the points \ and (0, 5) is given by,

| z |
- 3 4 |4
C 5| =y e 255 = X a4 25
4 V4

d{x}zu{(x—ﬂ)? + '?—_w} \

{13 —Rx] ~ {_x” - Bx}
X —16x7 +100

[
[~ —4x* +25

\ 4
Now. .:1"{:':]:l'J:t~.\f'1 -8x=0

= x{f —R) =)

2

—x=0.£22
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(x* —16x" +100)
(x* —16x7 +100) (35" ~8) - 2(x" ~8x)(x" ~8x)

- ]
2

(x* —16x7 +100)

(x' ~16x +100) (33" ~8)~2(x" ~8x)’

(x*-16x" + IDD);

x =0, then d”{x} = M <.
When, 6

When, x =122, d"(x)=0.

OBy second derivative test, d(x) is the minimum at* = iz‘ﬁ .

(242)

.r=i2-u'5,y=—=4.

When

(ﬂﬁ, )

Hence, the point on the curve x> = 2y which is nearest to the point (0, 5) is

The correct answer is A.

Question 28:
l—x+x?

For all real values of x, the minimum value of 1+X+x" jg

(A) 0 (B) 1
!
(€)3 (D) 3
Answer
N - x+x°
Let'f{l}_l+x+x:‘
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FREE Edu = (1+x+x7)(=1+2x)-(1-x+x7)(1+2x)
)= (I+.~:+x:)z
_—|+2.‘{—I+2I3—.\‘.’2+2.1’3—]—23’+.1’+2_1’3—.1’2—2.1’3
B (I+x+_7r2]2

-2 2(x-1)
(I+I+I]}] {I+Jc+x3):r

LfN(x)=0 = X =1= =+l

2| (142427 ) (20) = (27 =1)(2) (14 +27 ) (1+2x)
[

4

Nowe f7{5)= (o)

4(I+.r +x3)[(l+x +x3)x—(,t2 —I][l+2x}]

3
(I+_‘¢+xl]

- 4[.: +xt = =20 4 1+ 2.:]

(l+.‘£’+.1'2)3
=4U+h—f]
(l+x+x1)'1
wy H043-1) 4(3) 4
And, f7(1)= {1+I+I]} - {3}3 9 !
Atso /(=)= H=341) - 4co

(1-1+1)’

OBy second derivative test, fis the minimum at x = 1 and the minimum value is given

f(1)=

by I+1+1 3

1-1+1 1

The correct answer is D.

Question 29:

|
lx=1)+1P.0=x=1
The maximum value of [A[x }+ :I ’ ! is
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) \3/ () 2

(©)1 (D)o

Answer

1
Let.f'{x}:[,r[.r—l}+l:|-".
2y =1
LS (x)=—=

3[Jc{_x—|}+1]i

Now, f'(x)=0 = x:é

1
X=—
Then, we evaluate the value of f at critical point 2 and at the end points of the

interval [0, 1] {i.e., at x =0 and x = 1}.

£(0)=[0(0-1)+1] =1
F)=[11-1)+1] =1

(5

Hence, we can conclude that the maximum value of f in the interval [0, 1] is 1.

The correct answer is C.
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Using differentials, find the approximate value of each of the following.

|(E]*I :
(ay \81) (py (33) 7

Answer

y=x* Letx= and Ax =
(a) Consider 8

Ay =(x+Ax)s —x*

J )

Then,

Now, dy is approximately equal to Ay and is given by,

v Y ! 17y
dy —[— Ax = —(Ax) as y = x*
dx ) (1] )
4 A
t : J L1 010
If:“” 31 4><8 81 32:-<3 96
LEU
i
|E] is 240,010
Hence, the approximate value of * 8 = 0.667 + 0.010

= 0.677.

(b) Consider? =% " . Let x = 32 and Ax = 1.
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FREE Educatlcm,z(ﬁm} S_xt=(33)5 —(32) 5 =(33) 5 - 1

Then, 2
_t 1
S33) s =—a Ay
(335 =+

Now, dy is approximately equal to Ay and is given by,

dy = (‘{!](& L (aw) [ﬂsy:x ’I‘]

5(x):

= }h{ }——ﬁ=—ﬂ,ﬂﬂ3

(33) S is ++(-0.003)
Hence, the approximate value of 2

= 0.5 - 0.003 = 0.497.

F(x)= log x

Show that the function given by & has maximum at x = e.

Answer

log x
The given function is /' (x) = i

X
{

I}—logx

£(x)= L

_1-logx

T

x° x°

Now ;‘"{x} =0

A

=1-logx=0
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FREE Edi= logx=1

= logx=loge

= Xx=¢
.1
x| - J—(I—Icrgx}(zx]
Now._f'u{ ] 2 <
X 2x(1-logx)
= "
—3+2logx
- x.!-
;0 -3+ —
Now, /" (e)= -3+ 2llm;,c 3-}-.,: 11{{}

e e’ e
Therefore, by second derivative test, f is the maximum at x = e.

The two equal sides of an isosceles triangle with fixed base b are decreasing at the rate

of 3 cm per second. How fast is the area decreasing when the two equal sides are equal
to the base?

Answer
Let AABC be isosceles where BC is the base of fixed length b.
Let the length of the two equal sides of AABC be a.

Draw ADOIBC.
A
i, of
B & D & C
7 ]

Now, in AADC, by applying the Pythagoras theorem, we have:

I b’
AD 1l'|| a —I
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[, b
(A) —E:,xllfr -
0 Area of triangle 2 4
The rate of change of the area with respect to time (t) is given by,

d4 1 b. 2a da abh dat
dr 2 [, bt dt Jag* —p* di
2, ja -
Vo4

It is given that the two equal sides of the triangle are decreasing at the rate of 3 cm per
second.

i .

aa_ -3 cm/s
0 di
CdAd 3ab

dt  \4q* -b*

Then, when a = b, we have:

ﬁ: | —{h' -3b* —ﬁh
di Jap —p*  3p?
Hence, if the two equal sides are equal to the base, then the area of the triangle is

decreasing at the rate of Y3 2 €M"/s

Find the equation of the normal to curve y* = 4x at the point (1, 2).
Answer

The equation of the given curve is? =4x

Differentiating with respect to x, we have:
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= =]

.;{x-} 1
dx |4

OEquation of the normal at (1, 2)isy — 2 = —-1(x — 1).

i) < XII Chapter 6 - Application of Derivatives Maths
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Now, the slope of the normal at point (1, 2) is

Oy-2=-x+1
Ox+y—-3=0

Show that the normal at any point 6 to the curve

¥ =acos@+alsing, y=asint—allcostig o 5 constant distance from the origin.

Answer

We have x = a cos 6 + a 6 sin 6.

%: —asin@+asiné + af cosd = af cos

y=asinfd—afcosd

%=acusé—acosfﬂrré‘sinﬁ=m§51n5'
(dy _dy dO _absing _

A = =tan#
dy  df dy  afcosd

O Slope of the normal at any point 8 is tand

The equation of the normal at a given point (x, y) is given by,

y—asind + afl cosd = (x—acosd—atlsind)

tan 7/
= ysiné —asin® #+af sinf cosé = —xcosd + acos’ @ +affsind cosd
= xcosd+ vsind a{.‘;in:  + cos’ ﬁ'] =1
= xeost) + yvsinfl—a=10
Now, the perpendicular distance of the normal from the origin is

—(F| B |—a|

o 0aenln 1 :|_“|
veos B+sin” 6 ] , which is independent of 8.

Hence, the perpendicular distance of the normal from the origin is constant.
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Question 6:
Find the intervals in which the function f given by

dsinx=2x=xcosx

flx)=

24+cosx
is (i) increasing (ii) decreasing
Answer

f(x)=

dsinx—2x—xcosx

2+cosx
f"( } {2+c05.r}(4ccrsx—2—cosx+xsinx]—[dsinx—z.r—xcas.r]{—sinx}
s x)=

(2 +cosx)’

(2+cosx)(3cosx—2+xsinx)+sinx(4sinx—2x—xcosx)

(2 +CDS.T)2

_ 6eosx—442xsinx+3cos’ x—2cosx+xsin xcosx+4sin’ x—2xsinx —xsin xcosx
- 2
[2+cuﬁ.r]

_ 4cosx—4+3cos’ x+4sin’ x

- {2+C05x}2
_dcosx—4+3cos’ x+4—dcos x
- (2+uusx)2

_dcosx—cos’ x _cosx(4—cosx)
(2 +cosx}" {2+:::u:}5;):)3

—cosx=0o0rcos x =4

But, cos x # 4

Ocosx =0

T 3n
===

2 2
MNow,x=— and 'rz'm
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] 3
ﬂc:.rc:iand—ﬂr:xc: 2m.
Thus, f(x) is increasing for 2

In the interval(

Thus, f(x) is decreasing for 2 2,

s
flx)=x"+—,x=0
Find the intervals in which the function f given by X is

(i) increasing (ii) decreasing

Answer
) 2
f[x}—,\ +x"

, 3 3x"-3
S x)=530x - = -
fi)=3 5=

Then, f(x)=0=3x"-3=0=x"=1=x=1%I
Now, the points x = 1 and x = —1 divide the real line into three disjoint intervals

(—o0,—1),(-1,1), and (1,0).

i.e.,

(—0,—1) and (1,=0) f'(x)=0.

In intervals i,e., whenx < —-land x> 1,

Thus, when x < —1 and x > 1, fis increasing.

f'(x)<0.

Ininterval (-1, 1) i.e., when -1 <x < 1, -
Thus, when —1 < x < 1, fis decreasing.
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Find the maximum area of an isosceles triangle inscribed in the ellipse & b with
its vertex at one end of the major axis.

Answer

The given ellipse is a b

Let the major axis be along the x —axis.

Let ABC be the triangle inscribed in the ellipse where vertex C is at (a, 0).

Since the ellipse is symmetrical with respect to the x—axis and y —axis, we can assume

the coordinates of A to be (—x;, y1) and the coordinates of B to be (—x3, —y1).

h ——=
W= —ya—x
Now, we have d
{ —

b z
| —x,. —Ja —x, J
CCoordinates of A are * a and the coordinates of B are

( b =
| ,'L'I- I 1\| il _.TI .
| da

A

As the point (x3, y1) lies on the ellipse, the area of triangle ABC (A) is given by,
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o1 (2 b == b 32
FREE Bdt s 27 =7 Jo (o) - 2= Jo) -2 o=

= A=bha’ —.'c,z + X, E Ja' -x,: [l]
i

A -2; b 53 2bx!
P LI P S
dy,  2Ja'-x @ al\la -x
b

T T T

= X+ (a‘ —x,‘] —xy
T 3
asja —x;

b(—l‘ff -xa+a’ )

i 2
ayJa’ - x,

MNow, ﬁ =)
dx,

= =2x; —xa+a’ =0

ai1|'a:—4{—2]{a:}
-2

=X =
2(-2)
_at 9a°
-4
_aiSa
—4
a
=X =-d, —
2

But, x; cannot be equal to a.
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FREE Edu a b |, a _ha J3b
X, = Yy =—4|a = V3=
2 o 4 2a° 2
? ] 2 , [_le}
Ja' —x {—4,):'—{1}—(—2)(' -xa+ a)—
2 5 | 2 _ 2
Now ':!z— S e
iy a a —x
h (.:? -x,)[ —dx,—a)+x { =2x; -xa+a]
=1 3
a [n —-x ]:
_b 2 —3a'x—a’
=1 3
{az—xf]i
a
X ==
Also, when 2 , then
3 3 3
o o 3 o 3 3 q
ey 528—32—a>:£<4—2ﬂ—a>
d.I] a jﬂ'] : a 3'“3 :
SEREE
‘J'a]
=-2J4 =0

Thus, the area is the maximum when

0 Maximum area of the triangle is given by,
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A=ba -2 2|2 Ja? -2
\I -\2,{:"'1 4
3 (a\b a3
—m_’J——|—|—><
2 \2)a 2
ab\3 abJy3 33
= > i 2 = 3 ab

A tank with rectangular base and rectangular sides, open at the top is to be constructed
so that its depth is 2 m and volume is 8 m>. If building of tank costs Rs 70 per sq meters
for the base and Rs 45 per square metre for sides. What is the cost of least expensive
tank?

Answer

Let /, b, and h represent the length, breadth, and height of the tank respectively.

Then, we have height (h) =2 m

Volume of the tank = 8m?

Volume of thetank =/ x b x h

O08=/xbx2

_>HJ'=4_>.|'}=?

Now, area of the base = /b = 4
Area of the 4 walls (A) = 2h (I + b)

U _yfy 4)
di N
Now, ”r—ﬂ=£!
dl
Jl—izﬂ
‘r.
= =4
=[/=42
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4 4
_'_I}:—:—:E
I 2
2 2
MNow, df =3—:
dal- I
When [ = 2, f"h':i="'—_2=4;-,{:‘
dl” )

Thus, by second derivative test, the area is the minimum when / = 2.
We have /| =b = h = 2.

OCost of building the base = Rs 70 x (/b) = Rs 70 (4) = Rs 280
Cost of building the walls = Rs 2h (/ + b) x 45 = Rs 90 (2) (2 + 2)

= Rs 8 (90) = Rs 720

Required total cost = Rs (280 + 720) = Rs 1000

Hence, the total cost of the tank will be Rs 1000.

The sum of the perimeter of a circle and square is k, where k is some constant. Prove
that the sum of their areas is least when the side of square is double the radius of the
circle.

Answer

Let r be the radius of the circle and a be the side of the square.

Then, we have:

2mr +4a =k (where k& is constant)

k—2mr
— =

The sum of the areas of the circle and the square (A) is given by,

I, , (k—ﬂm’}?
A=mw " +a =mr" +———
16
20k —2ar)(-2 k-2
L (k—2mr)( HJ:EW—“{ )
dr 16
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mik—-2
;Rzm':_:{k—nr]

Br=k-=2mr
= (8+2n)r=k

k k
8+2m 2(4+m)

==

" Whenr:L ﬁ::- 0.
2(4

k
24w )

F=

O The sum of the areas is least when

k

k_zn["r{m }] k(4 k

When r = k , = = = (4 ) _ ek =2r
2(4m ) 4 44w ) 44w )4 m

Hence, it has been proved that the sum of their areas is least when the side of the

square is double the radius of the circle.

A window is in the form of rectangle surmounted by a semicircular opening. The total
perimeter of the window is 10 m. Find the dimensions of the window to admit maximum
light through the whole opening.

Answer

Let x and y be the length and breadth of the rectangular window.

X
Radius of the semicircular opening 2
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It is given that the perimeter of the window is 10 m.

X2V 10
- ¥

)
J.\'[]IK + 2y =10
. 2 7

\

:>2,;-'=m—.r[1+f]
>

i N
= y=5-x lﬂ+—J
’ V2 4

ClArea of the window (A) is given by,

i 1)
:Jx—x‘|—+— +—x°
\Z 4,

14 1
'_E—:S—Zr —TE+—TT+—'(
clx V2 4
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FREE Eduyow. -
dx
. \ x
5 \[II— c =0
. 2) 4
= S—x Exzﬂ
4
s T LY _
= x|l 1+—|=5
o
N 5020
S o) m+4
1+
' s
20 ™A
x= then —< 0.
Thus, when m+4 dx
20
X=——m
Therefore, by second derivative test, the area is the maximum when length m+4
Now,
_20 (24w . (24w 10
V= ) =5 =
n+4\ 4 J n+4 T+4

Hence, the required dimensions of the window to admit maximum light is given

length = 20 m and breadth =
by T+ 4 m+4

.

A point on the hypotenuse of a triangle is at distance a and b from the sides of the

triangle.
3
2 1%
a’ + b’
Show that the minimum length of the hypotenuse is * 4
Answer

Let AABC be right-angled at B. Let AB = x and BC = y.
Let P be a point on the hypotenuse of the triangle such that P is at a distance of @ and b

from the sides AB and BC respectively.
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FREE Edué&itidh = ¢
A
O P
o
b
g
B &
We have
AC=x +y
Now,

PC = b cosec @
And, AP = a sec 6
JAC = AP + PC
OAC=bcosecH +asech..(1)
~d(AC)
Cde
~d(AC)
a0
= asec tan @ = bcosec cot @
a sinf b cosd
cosd cosf siné sind
= asin’ @ =hcos’

= —bhcosecHcot & + asecf tan @

=0

= (a)isind =(h)? cosd
1
h s

o

:btan19=[

1
ssing = {b)s

— and cosf == (2)
W oar? +£JE a’ +b°

d*(AC E
It can be clearly shown that jgﬁ ) <0 when tam‘?:[é] .
- a

D
~i-
Lk | bt
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FREE Edu‘l&ﬁlisfﬁre, by second derivative test, the length of the hypotenuse is the maximum when

tané = [E]l .
a

tanf = F—]}
Now, when L) we have:
\/ﬁ N
3 3 | 3 3
ac=Na bt aNa +h [Using (1) and (2)]
b a’

[T 272 2
=Va' +b° h-‘+a-‘]
\
:[as .bs]'
3
2 2%z
(u-‘+h-‘

Hence, the maximum length of the hypotenuses is “

f(x)=(x=2) (x+1)",

Find the points at which the function f given by
(i) local maxima (ii) local minima
(iii) point of inflexion

Answer

,r"{_r}:[.'r—l}_‘[.r+]}=.

The given function is-

3 el

() =4(x=2) (x 1) +3(x 1) (x-2)
(_1-—2};[:.;+]}3 [4(.'r+l]+3(_r—3]:|
(x=2) (x+1) (7x-2)

Now. f"(x)=0 = x=-1 e]ndx:% orx=2
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Now, for values of x close to T and to the left of 7 Also, for values of x close to
2
7 7’ f { ’1
and to the right of
2

xr=—=

Thus, Tis the point of local maxima.
2._f"{,r}<: 0

Now, for values of x close to 2 and to the left of " Also, for values of x close to

2 and to the right of 2,.f (x)>0.

Thus, x = 2 is the point of local minima.

Now, as the value of x varies through -1, / {Tj does not changes its sign.

Thus, x = —1 is the point of inflexion.

Find the absolute maximum and minimum values of the function f given by
f(x)=cos’ x+sinx,xe[0.x]
Answer
f(x)=cos” x+sinx
f'(x)=2cosx(-sinx)+cosx
=—2SIN X CO5 X +COSX
Now.f"[x] =

= 2sinxcosx = cosx = cos x(2sinx—1) =0

= sinx=— or cosx =10

[

Z}l‘:E, or Easxe[[},n]
6 “

x=Zandx=Z
Now, evaluating the value of f at critical points 2 6 and at the end points of

the interval[ﬂ'n] (i.e., at x = 0 and x = n), we have:
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1= |=cos’ —+a|n— | ==

I \'ﬁ,-' 4

.f'{UJ:COS?ﬂ+San=I+U=]

,f'{n}=cos"1I+sinn:[—l}3+u=1

1 Z]=cos? Zsins=0+1=1

2 2 2
5 - T
Hence, the absolute maximum value of fis 4 occurring at S 6 and the absolute

19
xr=0,—= andn.
minimum value of fis 1 occurring at

Show that the altitude of the right circular cone of maximum volume that can be
ﬂ

inscribed in a sphere of radius r is 3,

Answer

A sphere of fixed radius (r) is given.

Let R and h be the radius and the height of the cone respectively.

The volume (V) of the cone is given by,
R
¥ = T']TH-h

)

Now, from the right triangle BCD, we have:

BC=+r'-R*

Op="r+ xl"r‘ R

Get CBSE Notes Vldeo Tutorlals Test Pagers & Sample Papers
Page 126 of



XII Chapter 6 — Application of Derivatives Maths
¥ eVldy 1t li
1
=3

FREEEdL = Rﬁ(.=+~.|'r —R):Eﬂﬁ’r+—xﬁ' e
; - - 1 -2R
2 e R R R ( }

=E?ERJ+—IR\1'Ir' R ——
3 WK -R
2aR(r’ =R )-aRk’
=E71:R.i'+ { )
3 3 |Ir2 — R’

=§7[Rj'+ 2aRr —3nk

>

WK —R
Now,%=ﬂ
2nrR  3nR -2nRr’

3 W - R
= 2T R =3R -2
=4 (P -R)=(3R -2r*)
= dr' =4 B =9R' +4r* - 12R*F
= 9R' —8'R* =0

— QR =&
= _8r
9
2 2 2 2 2 3 ]
o 3Wr? - R (2m” —97R*) - (27Rr” - 3aR ){—ﬁﬁ}Mﬁ
Now,——=—+ —
drR® 3 9(r* - R*)

o Wit = R (2m” - 9nR® )+ (2mRr* —37R) (3R) m

3 Q(rf —Rf}

2 2

Now, when R* = 8r . it can be shown that - <0,
9 dR
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FREE Edt When R* = 8; . height of the cone = r +‘f =r +\/ 9 i -

3 3
Hence, it can be seen that the altitude of the right circular cone of maximum volume
4r

that can be inscribed in a sphere of radius r is 3.

Show that the height of the cylinder of maximum volume that can be inscribed in a
2R

sphere of radius R is \"E . Also find the maximum volume.

Answer

A sphere of fixed radius (R) is given.

Let r and h be the radius and the height of the cylinder respectively.

From the given figure, we have h= Eh'llf‘f: L

The volume (V) of the cylinder is given by,
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FREE Edvv = wh=2nr" VR —#*

dV — 2 {—2:’]
T = 41'”".;' R+
dr 2R -1

= 4R 1 - EH—,,—
R -
4nr[R2 —rl)—Em"i
R —y?
B darR’ - 6mr

dl .
Now, — =0 = 4wk’ —6mr' =0

dr
_ e 2R
3
IR (42R 1807~ (4R —6r) 20
Mow av = I { } [ j }Qm
Tt (Rg _r:)
(R‘Z B ,-2 ](4ER: -1 E?U'E]'F f'[‘q-if[i'R: —ﬁn;r'l}
- 3
-y
CAnR -2 R 4120 + At R
- L
(Rz —r:)?—
22 ZR‘ d'v v _,
Now, it can be observed that at 3 T dt
2 ER"
= .

OThe volume is the maximum when

2R 2. [R? E_zf' ER

When 3 the height of the cylinder is

Hence, the volume of the cylinder is the maximum when the height of the cylinder is
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Show that height of the cylinder of greatest volume which can be inscribed in a right
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circular cone of height h and semi vertical angle a is one-third that of the cone and the
4 L 5
—mh” tan” o
greatest volume of cylinder is 27
Answer
The given right circular cone of fixed height (h) and semi-vertical angle (a) can be drawn

as:

Here, a cylinder of radius R and height H is inscribed in the cone.
Then, OGAO =a,0G =r,OA=h,OE=R,and CE=H

We have,

r=~htana

Now, since AAOG is similar to ACEG, we have:

A0 _CE
0G  EG
SN |EG =0G -OE]
r r—R
h h |
= H=—(r-R)= (htana - R) = (htana - R)

I8 fitan o tan cr

Now, the volume (V) of the cylinder is given by,

V=R H =" (htan o R) = nR2h- %
tan o tan o
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FREE Ed%ngm o

xR’

tan o
= 2htana = 3R

= 2nRh =

2h
= R="—tane

Ntmud-I: =2mh- bnft
:’JR_ tan o
1
R="—tane
And, for 3 , we have:
_ﬁr_I: =2nh L Iildnrrl mh-dnh=-2nh<0
R’ tane | 3 J

OBy second derivative test, the volume of the cylinder is the greatest when

|
R=—tane.
3

2h 1 [ 2h y 1 (htana 'y h
When R = ——tan . H = fitan o — —tan o ==

3 tan ol 3 Jtanal 303
Thus, the height of the cylinder is one-third the height of the cone when the volume of
the cylinder is the greatest.
Now, the maximum volume of the cylinder can be obtained as:

(2h V(

Hence, the given result is proved.

A cylindrical tank of radius 10 m is being filled with wheat at the rate of 314 cubic mere
per hour. Then the depth of the wheat is increasing at the rate of

(A) 1 m/h (B) 0.1 m/h

(C) 1.1 m/h (D) 0.5 m/h

Answer
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FREE Edlf(?ﬁﬁ(?ﬁ the radius of the cylinder.

Then, volume (V) of the cylinder is given by,
V= :rr(radius}: x height
x(10) & (radius =10 m)
=100xh
Differentiating with respect to time t, we have:

. _gon

dr dr
The tank is being filled with wheat at the rate of 314 cubic metres per hour.

ﬁ =314 m'/h

[ dr
Thus, we have:

314—]II}II}IEﬁ

dlt
dh 314 314

:';> ————
dt 100(3 14} 314

Hence, the depth of wheat is increasing at the rate of 1 m/h.

The correct answer is A.

- =27
The slope of the tangent to the curve™” =1"+31-8, y= 2" =215

2 6 1 -6
A 7 ® T b 7

Answer

at the point (2, —1) is

The given curve is* = " +3t—8and y=2" -2¢-5.

.‘.ﬂ=2r+3 and ﬂzm_z
ot dr

oy faj dt 4r-2
”dr ar dr 2i+3

The given point is (2, —1).
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FREE Edutafior?: We have:
P43 -8=2
— P +3—-10=10

= (1=2)(t+5)=0
=i=2ort=-5

Aty =—1, we have:

207 -2-5=-1

=2 —2t—4=10

=2(r -r-2)=0

= (r=2)(t+1)=0
=t=2ort=-I

The common value of tis 2.
Hence, the slope of the tangent to the given curve at point (2, —1) is
ﬁw _4(2)-2 8-2 6
de |, {2]+’~S 4+3 7

The correct answer is B.

The line y = mx + 1 is a tangent to the curve y? = 4x if the value of m is
1

(A)1(B)2(C)3 (D) 2

Answer

The equation of the tangent to the given curveis y = mx + 1.

Now, substituting y = mx + 1 in y* = 4x, we get:

= (mx+ I)J = dx

=mx +1+2my—-4x=0

=m'x +x(2m-4)+1=0 (D)

Since a tangent touches the curve at one point, the roots of equation (i) must be equal.

Therefore, we have:
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{2*’”—4]:—4[141:){]}2
— 4m‘1 +16 - |6I”_4”j! -0
= 16-16m=10

= m=1

P 4 XII Chapter 6 - Application of Derivatives Maths
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Hence, the required value of mis 1.

The correct answer is A.

The normal at the point (1, 1) on the curve 2y + x*> = 3 is
(A)x+y=0B)x—-y=0
COx+y+1=00D)x-y=1

Answer

The equation of the given curve is 2y + x* = 3.
Differentiating with respect to x, we have:

2ah
2 L ax=0
dx
dy
=X
dx
]
" dv L)
The slope of the normal to the given curve at point (1, 1) is
-1
=1.
afv}
dx f )
Hence, the equation of the normal to the given curve at (1, 1) is given as:
= y-1=1(x-1)
= y—l=x-1
= x=y=0

The correct answer is B.
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The normal to the curve x* = 4y passing (1, 2) is
A)x+y=3B)x—-y=3
COx+y=1D)x-y=1

Answer

oo < XII Chapter 6 - Application of Derivatives Maths
& eVidyarihi

The equation of the given curve is x* = 4y.

Differentiating with respect to x, we have:

2x=4. ﬂ
dx
v _x
de 2
The slope of the normal to the given curve at point (h, k) is given by,
-1 2
dy h
dx X3

COEquation of the normal at point (h, k) is given as:
k="2(x—h)

v =—|\x—n

] p [

Now, it is given that the normal passes through the point (1, 2).

Therefore, we have:

y, 5
2-k="(1-Mork=2+=(1-h (1)

2(1-1) ork=2+2(1-
Since (h, k) lies on the curve x*> = 4y, we have h? = 4k.
::-k:h_

4

From equation (i), we have:
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FREE EdmI=2 211
1

:‘>h—:2)’?+2—21’?:2
4

=k =8
= h=2
h:
Shk=—=k=1
4
Hence, the equation of the normal is given as:
-2
= y—-l=—(x-2
~(x-2)
= y-1=—(x-2)
= x+ty=3

The correct answer is A.

The points on the curve 9y? = x, where the normal to the curve makes equal intercepts
with the axes are
—8"
4,+ —] L4 —
W' e 3

f4+1] r#45]
o' 8oyl 8

Answer
The equation of the given curve is 9y? = x°.
Differentiating with respect to x, we have:
dy
92y =3x
(2v)—
dy _x°

de Oy

The slope of the normal to the given curve at point
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O The equation of the normal to the curve at {x"}"} is

_6}]
-V = = [""‘_xlj'

= X[V =Xy, = —6xy, +6x,),
— f-_'-,_r).'l — xlr_}a‘ = 6.¥|}’| + -T|:.]"'|
bxy, { Xy

- — =1
ox v, +x’y,  6xy Xy

X ¥
— + =1
v’ﬁ(ﬁ_xl] }=|[6+x|]
] X,

It is given that the normal makes equal intercepts with the axes.
Therefore, We have:

x(6+x) N (6+x)

6 x,
YoN
:>___
6 x
= x =6 (i)

Also, the point{ 1 '} lies on the curve, so we have
9y = x BTy
From (i) and (ii), we have:
232 T
9[1—‘ :xf—:-x—'::i,“ﬁx,:ﬁr
6 J 4

From (ii), we have:
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i
FREE Edu9y? =(4) =64
. b4
=y =—
' 9
=W =d:E
3

i
4.i§].
Hence, the required points are "

The correct answer is A.
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